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INSTRUCTIONS FOR THE CANDIDATES 

1.   Before attempting the paper carefully read out all the Instructions & Examples given on Side 

1 of Answer Sheet (OMR Sheet) supplied separately. 

2. At the start of the examination, please ensure that all pages of your Test booklet are 

properly printed; your Test booklet is not damaged in any manner and contains 150 

questions. In case of any discrepancy the candidate should immediately report the matter 

to the invigilator for replacement of Test Booklet. No claim in this regard will be entertained 

at the later stage. 

3. An OMR Answer Sheet is being provided separately along with this Test booklet. Please fill 

up all relevant entries like Roll Number, Test Booklet Code etc. in the spaces provided on 

the OMR Answer Sheet and put your signature in the box provided for this purpose. 

4. Make sure to fill the correct Test booklet code on Side 2 of the OMR Answer Sheet. If the 

space for the Booklet Code is left blank or more than one booklet code is indicated therein, 

it will be deemed to be an incorrect booklet code & Answer Sheet will not be evaluated. The 

candidate himself/herself will be solely responsible for all the consequences arising out of 

any error or omission in writing the test booklet code. 

5.  This Test Booklet consists of 20 pages containing 150 questions. Against each question 

four alternative choices (1), (2), (3), (4) are given, out of which one is correct. Indicate your 

choice of answer by darkening the suitable circle with BLACK/BLUE pen in the OMR Answer 

Sheet supplied to you separately. Use of Pencil is strictly prohibited. More than one answer 

indicated against a question will be deemed as incorrect response. 

6.   The maximum marks are 150. Each question carries one mark. There will be no negative 

marking. The total time allocated is 90 minutes. 

7.   Do not fold or make any stray marks on the OMR Answer Sheet. Any stray mark or smudge 

on the OMR Answer Sheet may be taken as wrong answer. Any damage to OMR Answer 

Sheet may result in disqualification of the candidate. 

8.  On completion of the test, candidate must hand over the Test Booklet and OMR Answer 

Sheet to the invigilator on duty in the room/hall. 

9.   Use of Mobile phones and calculators etc. are not allowed. 

10. Keep all your belongings outside the Examination hall. Do not retain any paper except the 

ADMIT CARD. 
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NOTE: 

(i) There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child 

development and pedagogy – 30 questions, English Language – 30 questions and Punjabi Language – 30 

questions. There are 90 questions in total in Section–A in which the Child development and pedagogy is 

bilingual.  

(ii) Section B comprises of Mathematics – 30 questions and Environmental Studies – 30 questions. The Section – B 

is bilingual (English followed by Punjabi).  

 

 SECTION - A 

 CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) – 30 QUESTIONS (1-30) 

1 The best method to study growth and development of the child is: 

(1) Psychoanalytic Method                         (2) Comparative Method 

(3) Developmental Method                         (4) Statistical Method 

1 pZu/ dh ftqXh ns/ ftek; dk nfXn?B eoB dh ;G s'A tXhnk ftXh WLpZu/ dh ftqXh ns/ ftek; dk nfXn?B eoB dh ;G s'A tXhnk ftXh WLpZu/ dh ftqXh ns/ ftek; dk nfXn?B eoB dh ;G s'A tXhnk ftXh WLpZu/ dh ftqXh ns/ ftek; dk nfXn?B eoB dh ;G s'A tXhnk ftXh WL    
(1) wB'Fftôb/ôDkswe ftXh   (2) s[bBkswe ftXh  
(3) ftek;kswe ftXh    (4) ;Kfynkeh ftXh 

2 Socialization is a process by which children & adults learn from: 

(1) Family                     (2) School                    (3) Peers              (4) All of these 

2 ;wkiheoB fJe gqfeqnk W fi; okjhA pZu/ ns/ pkbr fe; s'A f;yd/ jBL;wkiheoB fJe gqfeqnk W fi; okjhA pZu/ ns/ pkbr fe; s'A f;yd/ jBL;wkiheoB fJe gqfeqnk W fi; okjhA pZu/ ns/ pkbr fe; s'A f;yd/ jBL;wkiheoB fJe gqfeqnk W fi; okjhA pZu/ ns/ pkbr fe; s'A f;yd/ jBL    
(1) gfotko  (2) ;e{b  (3) jwFo[spk ;kEh  (4) T[go'es ;ko/ jh 

3 Which one of the following is the true statement corresponding to Cephalocaudal Principle of 

Child’s Development: 

(1) Development is from head to foot             (2) Development is from foot to head  

(3) Development is from middle to periphery    (4) None of these 

3 pZu/ d/ ftek; d/ f;oFgkdw[yhpZu/ d/ ftek; d/ f;oFgkdw[yhpZu/ d/ ftek; d/ f;oFgkdw[yhpZu/ d/ ftek; d/ f;oFgkdw[yh f;XKs d/ nB[e{b fejVk eEB ;jh WL f;XKs d/ nB[e{b fejVk eEB ;jh WL f;XKs d/ nB[e{b fejVk eEB ;jh WL f;XKs d/ nB[e{b fejVk eEB ;jh WL    
(1) ftek; f;o s'A g?o se j[zdk W   (2) ftek; g?o s'A f;o se j[zdk W  
(3) ftek; wZX s'A T[Zgo se j[zdk W  (4) fJBQK ftu'A e'Jh th BjhA 

4 Determinants of Individual differences in human beings relate to: 

(1) Differences in Environment 

(2) Differences in Heredity 

(3) Interaction between Heredity & Environment 

(4) Both Heredity & Environment interacting separately 

4 wB[ZyK ftu fBih wsG/dK d/ fBoXkoe fe; Bkb ;zpzfXs jBLwB[ZyK ftu fBih wsG/dK d/ fBoXkoe fe; Bkb ;zpzfXs jBLwB[ZyK ftu fBih wsG/dK d/ fBoXkoe fe; Bkb ;zpzfXs jBLwB[ZyK ftu fBih wsG/dK d/ fBoXkoe fe; Bkb ;zpzfXs jBL    
(1) gfonktoB ftu nzso  
(2) ftok;s ftu nzso   
(3) ftok;s ns/ gfonktoB ftu nzsofeqnk   
(4) tZy tZy soQK Bkb nzsofeqnk eo oj/ d't/A ftok;s ns/ gfonktoB 

5 Term PSRN in development implies: 

(1) Problem solving, reasoning & numeracy  (2) Problem solving relationship & numeracy 

(3) Perceptual skill, reasoning & numeracy  (4) Perceptual skill, relationship & numbers 

5 ftek; ftuftek; ftuftek; ftuftek; ftu PSRN gd dk wsb gd dk wsb gd dk wsb gd dk wsbpppp WL WL WL WL    
(1) Problem Solving, Reasoning & Numeracy  (2) Problem Solving Relationship & Numeracy 

(3) Perceptual Skill, Reasoning & Numeracy    (4) Perceptual Skill, Relationship & Numbers 

6 Vygotsky proposed that Child Development is: 

(1) Due to genetic components of a culture         (2) A product of social interaction 

(3) A product of formal education        (4) A product of assimilation & accommodation 

6 ftr's;eh dk ;[Mkn ;h fe pkb ftr's;eh dk ;[Mkn ;h fe pkb ftr's;eh dk ;[Mkn ;h fe pkb ftr's;eh dk ;[Mkn ;h fe pkb ftek; WLftek; WLftek; WLftek; WL    
(1) ;z;feqsh d/ iDfBe sZsK ekoB  (2) ;wkie nzsofeqnk dh T[gi   
(3) T[gukoe f;fynk dh T[gi   (4) ;wheoB ns/ nB[e{bD dh T[gi 
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7 Gardner formulated a list of seven Intelligencies, Which among the following is not one of them: 

(1) Spatial Intelligence                            (2) Emotional Intelligence 

(3) Interpersonal Intelligence                   (4) Linguistic Intelligence 

7 rkovBo B/ ;Zs p[ZXhnK dh ;{uh pDkJh. j/m fbfynK ftu fJe fejVh BjhA WLrkovBo B/ ;Zs p[ZXhnK dh ;{uh pDkJh. j/m fbfynK ftu fJe fejVh BjhA WLrkovBo B/ ;Zs p[ZXhnK dh ;{uh pDkJh. j/m fbfynK ftu fJe fejVh BjhA WLrkovBo B/ ;Zs p[ZXhnK dh ;{uh pDkJh. j/m fbfynK ftu fJe fejVh BjhA WL    
(1) ;EkfBe p[ZXh  (2) Gktkswe p[ZX      (3) nzsoFftnefse p[ZXh  (4) GkôkJh p[ZXh 

8  Which of the following is the true statement in reference to intelligence: 

(1) Intelligence is the ability to adjust          (2) Intelligence is the ability to learn 

(3) Intelligence is the ability of Abstract Reasoning       (4) All of these    

8 p[ZXh d/ ;zpzX ftu fejVk eEB ;jh WLp[ZXh d/ ;zpzX ftu fejVk eEB ;jh WLp[ZXh d/ ;zpzX ftu fejVk eEB ;jh WLp[ZXh d/ ;zpzX ftu fejVk eEB ;jh WL    
(1) p[ZXh nB[e{b pDkT[D dh :'rsk W   (2) p[ZXh f;ZyD dh :'rsk W  
(3) p[ZXh ;{yw soe dh :'rsk W    (4) T[go'es ;ko/ jh 

9 “A Child can think logically about objects & events” This is the characteristic given by Piaget of stage: 

(1) Sensory Motor  (2) Pre Operational (3) Concrete Operational          (4) Formal Operation 

9 špZuk t;s{nK ns/ xNBktK pko/ skofee Yzr Bkb ;'u ;edk W.@ fJj ftô/ôsk fgnki/ tb'A fejVh nt;Ek špZuk t;s{nK ns/ xNBktK pko/ skofee Yzr Bkb ;'u ;edk W.@ fJj ftô/ôsk fgnki/ tb'A fejVh nt;Ek špZuk t;s{nK ns/ xNBktK pko/ skofee Yzr Bkb ;'u ;edk W.@ fJj ftô/ôsk fgnki/ tb'A fejVh nt;Ek špZuk t;s{nK ns/ xNBktK pko/ skofee Yzr Bkb ;'u ;edk W.@ fJj ftô/ôsk fgnki/ tb'A fejVh nt;Ek 
bJh fdZsh rJh WLbJh fdZsh rJh WLbJh fdZsh rJh WLbJh fdZsh rJh WL    
(1) ;zt/dh gq/oe  (2) g{oeF;zukbBh (3) ;E{b ;zukbBh (4) T[gukoe ;zukbB 

10 Which of the following does not belong to the categories of Coping strategies that women 

commonly engaged in: 

(1) Acceptance        (2) Resistance                 (3) Revolution           (4) Adaptation 

10 fejVk T[BQK ;kXe i[rsK d/ gqtorK Bkb ;zpzX BjhA oZydk fi; ftu n"osK nkw s"o s/ w;o{ø ofjzdhnK jBLfejVk T[BQK ;kXe i[rsK d/ gqtorK Bkb ;zpzX BjhA oZydk fi; ftu n"osK nkw s"o s/ w;o{ø ofjzdhnK jBLfejVk T[BQK ;kXe i[rsK d/ gqtorK Bkb ;zpzX BjhA oZydk fi; ftu n"osK nkw s"o s/ w;o{ø ofjzdhnK jBLfejVk T[BQK ;kXe i[rsK d/ gqtorK Bkb ;zpzX BjhA oZydk fi; ftu n"osK nkw s"o s/ w;o{ø ofjzdhnK jBL    
(1) ;thfeqsh  (2) gqfso'X  (3) eqKsh  (4) nB[e{bD 

11  What should be the role of teacher in meeting the individual differences: 

(1) Try to know the abilities, interest & aptitude of  individuals 

(2) Try to adjust the curriculum as per the needs of individuals  

(3) Both (1) & (2) 

(4) None of these 

11 fBZih wsG/d eoB bJh nfXnkge dh eh G{fwek j'Dh ukjhdh WLfBZih wsG/d eoB bJh nfXnkge dh eh G{fwek j'Dh ukjhdh WLfBZih wsG/d eoB bJh nfXnkge dh eh G{fwek j'Dh ukjhdh WLfBZih wsG/d eoB bJh nfXnkge dh eh G{fwek j'Dh ukjhdh WL    
(1) ftneshnk dhnK :'rsktK, o[uh ns/ gqftosh ù ikDBk 
(2) ftneshnK  dhnK b'VK nB[;ko gkmeqw ù YkbDk   
(3) d't/A (1) ns/ (2)  
(4) T[go'es ftu'A e'Jh th BjhA 

12 If a child has mental age of 5 years & chronological age of 4 years than what will be the IQ of child: 

(1) 125                        (2) 80                              (3) 120                      (4) 100 

12 i/ fJe pZu/ dh wkBf;e nk:{ i/ fJe pZu/ dh wkBf;e nk:{ i/ fJe pZu/ dh wkBf;e nk:{ i/ fJe pZu/ dh wkBf;e nk:{ 5 ;kb ns/ ekbeqfwe nk:{  ;kb ns/ ekbeqfwe nk:{  ;kb ns/ ekbeqfwe nk:{  ;kb ns/ ekbeqfwe nk:{ 4 ;kb W, sK pZu/ dk  ;kb W, sK pZu/ dk  ;kb W, sK pZu/ dk  ;kb W, sK pZu/ dk IQ eh j't/rkL eh j't/rkL eh j't/rkL eh j't/rkL    
(1) 125   (2) 80   (3) 120   (4) 100 

13 Which of the following is not the tool for Formative Assessment in scholastic domain: 

(1) Conversation Skill                                    (2) Multiple Choice Question 

(3) Projects                                                     (4) Oral Questions 

13 f;fynkswe y/so ftu ouBkswe w[ZbKeD dk T[geoB fejVk Bjhf;fynkswe y/so ftu ouBkswe w[ZbKeD dk T[geoB fejVk Bjhf;fynkswe y/so ftu ouBkswe w[ZbKeD dk T[geoB fejVk Bjhf;fynkswe y/so ftu ouBkswe w[ZbKeD dk T[geoB fejVk BjhA WLA WLA WLA WL    
(1) tkoskbkg e[ôbsk    (2) pj[Fftebgh u'D tkb/ gqôB  
(3) gq'i?eN     (4) w"fye gqôB 

14  A few students in your class are exceptionally bright, You will teach them: 

(1) Along with the class                                 (2) Along with higher classes 

(3) By using Enriched programmes              (4) Only when they want 

14 s[jkvh ebk; ftu e[M ftfdnkoEh ftô/ô s"o s/ p[ZXhwkB jB. s[;hA T[BQK ù gVQkUr/Ls[jkvh ebk; ftu e[M ftfdnkoEh ftô/ô s"o s/ p[ZXhwkB jB. s[;hA T[BQK ù gVQkUr/Ls[jkvh ebk; ftu e[M ftfdnkoEh ftô/ô s"o s/ p[ZXhwkB jB. s[;hA T[BQK ù gVQkUr/Ls[jkvh ebk; ftu e[M ftfdnkoEh ftô/ô s"o s/ p[ZXhwkB jB. s[;hA T[BQK ù gVQkUr/L    
(1) ebk; d/ Bkb    (2) T[u/ohnK ebk;K Bkb  
(3) ;fwqX gq'rqkwK dh tos'A eo e/   (4) e/tb T[d'A id'A T[j ukj[D 

15 The major purpose of diagnostic test is that of Identifying: 
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(1) The General area of weakness in class performance 

(2) Specific nature of remedial Programme needed 

(3) The causes underlying academic difficulties 

(4) The specific nature of pupil difficulties 

15 fBdkfBe gohyD dk w[Zy wzst fe; dh gSkD eoBk WLfBdkfBe gohyD dk w[Zy wzst fe; dh gSkD eoBk WLfBdkfBe gohyD dk w[Zy wzst fe; dh gSkD eoBk WLfBdkfBe gohyD dk w[Zy wzst fe; dh gSkD eoBk WL    
(1) ebk; d/ gqdoôB ftu ew÷'oh dk ;kXkoB y/so     (2) b'VhAd/ T[gukoh gq'rqkw dh ftô/ô gqfeosh 
(3) nekdfwe w[ôfebK d/ ekoB        (4) ftfdnkoEhnK dhnK w[ôfebK dh ftô/ô gqfeosh  

16 Special education is  related to 

(1) Educational for talented students        (2) Educational programmes for disabled 

(3) Training programmes for Teachers      (4) Training programme for retarded 

16 ftô/ô f;fynk fe; Bkb ;zpzfXs WLftô/ô f;fynk fe; Bkb ;zpzfXs WLftô/ô f;fynk fe; Bkb ;zpzfXs WLftô/ô f;fynk fe; Bkb ;zpzfXs WL    
(1) gqp[ZX ftfdnkoEhnK bJh f;fynk gq'rqkw (2) fBo:'r ftfdnkoEhnK bJh f;fynk gq'rqkw  
(3) nfXnkgeK bJh f;ybkJh gq'rqkw   (4) nto[ZX ftfdnkoEhnK bJh f;ybkJh gq'rqkw 

17 In CCE, Formative & Summative Assessment totals to: 

(1) 40% & 60% respectively                       (2) 60% & 40% respectively 

(3) 50% & 50% respectively                       (4) None of the above 

17 C C E ftu, ouBkswe ns/ ;zebBkswe w[bKeD dk e[b i'V WL ftu, ouBkswe ns/ ;zebBkswe w[bKeD dk e[b i'V WL ftu, ouBkswe ns/ ;zebBkswe w[bKeD dk e[b i'V WL ftu, ouBkswe ns/ ;zebBkswe w[bKeD dk e[b i'V WL    
(1) eqwtko 40% ns/ 60%   (2) eqwtko 60# ns/ 40% 
(3) eqwtko 50% ns/ 50%   (4) T[go'es ftu'A e'Jh th BjhA 

18 Frobel’s most important contribution to education was his development of the: 

(1) Vocational school     (2) Kindergarten        (3) Public School         (4) Latin school 

18 c'qp/b dk f;fynk ù ;G s'A tZX wjZstg{oB :'rdkB T[; dkLc'qp/b dk f;fynk ù ;G s'A tZX wjZstg{oB :'rdkB T[; dkLc'qp/b dk f;fynk ù ;G s'A tZX wjZstg{oB :'rdkB T[; dkLc'qp/b dk f;fynk ù ;G s'A tZX wjZstg{oB :'rdkB T[; dkL    
(1) ftt;kfJe ;e{b dk ftek; ;h   (2) fezvorkoNB dk ftek; ;h  
(3) gpfbe ;e{b dk ftek; ;h   (4) b?fNB ;e{b dk ftek; ;h 

19 Which article enjoins that “All minorities whether based on religion or language shall have the 

right to establish & administer education institutions of their choice” 

(1) Article 29(1)            (2) Article 29(2)            (3) Article 30(1)          (4) Article 30(2) 

19 fejV/ nB[S/d ftu fJj ftt;Ek fe, š;ko/ nbgF;zfyne ukj/ T[j Gkôk s/ nkXkfos jB iK Xow T[Zgo, fejV/ nB[S/d ftu fJj ftt;Ek fe, š;ko/ nbgF;zfyne ukj/ T[j Gkôk s/ nkXkfos jB iK Xow T[Zgo, fejV/ nB[S/d ftu fJj ftt;Ek fe, š;ko/ nbgF;zfyne ukj/ T[j Gkôk s/ nkXkfos jB iK Xow T[Zgo, fejV/ nB[S/d ftu fJj ftt;Ek fe, š;ko/ nbgF;zfyne ukj/ T[j Gkôk s/ nkXkfos jB iK Xow T[Zgo, 
T[BQK ù nkgDh g;zd dh e'Jh th ;z;Ek ;Ekfgs ns/ ôkf;s eoB dk nfXeko T[BQK ù nkgDh g;zd dh e'Jh th ;z;Ek ;Ekfgs ns/ ôkf;s eoB dk nfXeko T[BQK ù nkgDh g;zd dh e'Jh th ;z;Ek ;Ekfgs ns/ ôkf;s eoB dk nfXeko T[BQK ù nkgDh g;zd dh e'Jh th ;z;Ek ;Ekfgs ns/ ôkf;s eoB dk nfXeko WLWLWLWL    
(1) nB[S/d  29(1)  (2) nB[S/d 29(2) (3) nB[S/d 30(1) (4) nB[S/d 30(2) 

20 If a child writes 16 as 61 & gets confused between b & d, this is case of: 

(1) Visual Impairment     (2) Learning Disability     (3) Mental impairment    (4) Mental Retardation 

20 i/ pZuk i/ pZuk i/ pZuk i/ pZuk 61 ù  ù  ù  ù 16 fbydk W ns/  fbydk W ns/  fbydk W ns/  fbydk W ns/ b ns/  ns/  ns/  ns/ d ftu T[bM iKdk W, fJj fe; dk e/; WL ftu T[bM iKdk W, fJj fe; dk e/; WL ftu T[bM iKdk W, fJj fe; dk e/; WL ftu T[bM iKdk W, fJj fe; dk e/; WL    
(1) fdqôNh fteko (2) f;ZyD fBo:'rsk (3) wkBf;e fteko (4) wkBf;e nto'X 

21  As a teacher what techniques you would follow to motivate students of your class: 

1. By setting induction                2.   Use of  black board 

        3.   By illustration                            4.   By active participation of students 

(1) 1, 2 & 3                (2) 1 & 4                       (3) 2 & 4                (4) All of these 

21 nfXnkge ti'A s[;hnfXnkge ti'A s[;hnfXnkge ti'A s[;hnfXnkge ti'A s[;hA nkgDh ebk; d/ ftfdnkoEhnK ù  gq/fos eoB tk;s/ fejVhnK seBheK dh tos'A A nkgDh ebk; d/ ftfdnkoEhnK ù  gq/fos eoB tk;s/ fejVhnK seBheK dh tos'A A nkgDh ebk; d/ ftfdnkoEhnK ù  gq/fos eoB tk;s/ fejVhnK seBheK dh tos'A A nkgDh ebk; d/ ftfdnkoEhnK ù  gq/fos eoB tk;s/ fejVhnK seBheK dh tos'A 
eo'r/Leo'r/Leo'r/Leo'r/L    
1 gq;sktBk ;?ZN eo e/     2 pb?e p'ov dh tos'A   
3 fdqôNKsK okjhA     4 ftfdnkoEhnK dh ;orow ôw{bhns okjhA 
(1) 1, 2 ns/ 3   (2) 1 ns/ 4  (3) 2 ns/ 4   (4) T[go'es ;ko/ jh  

22 What are the factors related to learner that effects the learning: 

 (1) Physical & Mental health of the learner         (2) Level of aspiration & achievement motivation 

(3) Readiness & Willpower                                       (4) All of these 

 

22 f;f;f;f;fynkoEhfynkoEhfynkoEhfynkoEh Bkb ;zpzfXs fejV/ ekoe jB fijV/ f;ZyD T[go n;o gkT[Ad/ jBL Bkb ;zpzfXs fejV/ ekoe jB fijV/ f;ZyD T[go n;o gkT[Ad/ jBL Bkb ;zpzfXs fejV/ ekoe jB fijV/ f;ZyD T[go n;o gkT[Ad/ jBL Bkb ;zpzfXs fejV/ ekoe jB fijV/ f;ZyD T[go n;o gkT[Ad/ jBL    



P-I Test Booklet code- A   Page 6 of 20 

 

(1) f;fynkoEh dk ;ohoe ns/ wkBf;e ;tk;E  
(2) neKfynk ns/ T[gbpXh nfGgq/oe dh gZXo  
(3) ssgosk ns/ fJZSkFôesh  
(4) T[go'es ;ko/ jh 

23 Cognitive Development means: 

(1) Development of intelligence                     (2) Development of child 

(3) Development of Physical Skills                (4) Development of individual 

23 ;zfrnkBkswe ftek; dk wsbp WL;zfrnkBkswe ftek; dk wsbp WL;zfrnkBkswe ftek; dk wsbp WL;zfrnkBkswe ftek; dk wsbp WL    
(1) p[ZXh dk ftek;    (2) pZu/ dk ftek;  
(3) ;ohoe e[ôbsk dk ftek;   (4) ftnesh dk ftek; 

24 Creative writing should be an activity planned for: 

(1) Only those children reading on grade level         

(2) Only those children spell & write cohesive sentences 

(3) Only those children who want to write for newspaper                                

(4) All children 

24 ouBkswe b/yD fJe rshftXh j'Dh ukjhdh W fi; dh :'iBk feBQK bJh j't/LouBkswe b/yD fJe rshftXh j'Dh ukjhdh W fi; dh :'iBk feBQK bJh j't/LouBkswe b/yD fJe rshftXh j'Dh ukjhdh W fi; dh :'iBk feBQK bJh j't/LouBkswe b/yD fJe rshftXh j'Dh ukjhdh W fi; dh :'iBk feBQK bJh j't/L    
(1) e/tb T[j pZu/ fijV/ rq/v b?tb s/ gVQ oj/ jB  
(2) e/tb T[j pZu/ fijV/ ôpdFi'V ns/ ;z:[es tke fby ;ed/ jB  
(3) e/tb T[j pZu/ nõpkoK bJh fbyDk ukj[zd/ jB  
(4) ;ko/ pZu/ 

25 Which of the following are the External Factors affecting the interest of students in classroom: 

(1) Emotions & Sentiments                         (2) Culture & Training 

(3) Attitudes of students                              (4) Goals & motives 

25 ebkebkebkebk;o{w ftu ftfdnkoEhnK dh fdbu;gh ù gqGkfts eoB tkb/ pkjob/ ekoe fejV/ jBL;o{w ftu ftfdnkoEhnK dh fdbu;gh ù gqGkfts eoB tkb/ pkjob/ ekoe fejV/ jBL;o{w ftu ftfdnkoEhnK dh fdbu;gh ù gqGkfts eoB tkb/ pkjob/ ekoe fejV/ jBL;o{w ftu ftfdnkoEhnK dh fdbu;gh ù gqGkfts eoB tkb/ pkjob/ ekoe fejV/ jBL    
(1) Gkt ns/ T[drko    (2) ;z;feqsh ns/ f;ybkJh  
(3) ftfdnkoEhnK dhnK gqftoshnK  (4) beô ns/ T[d/ô 

26 An intelligent student is not doing well in studies. What is the best course of the action for the teacher: 

(1) Wait till he performs better   (2) Find out reason for his under achievement 

(3) Give him grace marks in the examination (4) Ask his parents to withdraw from school 

26 p[ZXhwkB ftnesh gVQkJh mhe soQK BjhA eo fojk. nfXnkge tkp[ZXhwkB ftnesh gVQkJh mhe soQK BjhA eo fojk. nfXnkge tkp[ZXhwkB ftnesh gVQkJh mhe soQK BjhA eo fojk. nfXnkge tkp[ZXhwkB ftnesh gVQkJh mhe soQK BjhA eo fojk. nfXnkge tk;s/ ekotkJh dh ;G s'A p/jso ftXh eh WL;s/ ekotkJh dh ;G s'A p/jso ftXh eh WL;s/ ekotkJh dh ;G s'A p/jso ftXh eh WL;s/ ekotkJh dh ;G s'A p/jso ftXh eh WL    
(1) fizBk fuo T[; dk gqoôB p/jso BjhA j' iKdk, UBK fuo fJzs÷ko eo'   
(2) T[; dh xZN T[gbpXh dk ekoB wkb{w eo'  
(3) gohfynk ftu T[; ù fonkfJsh nze fdU  
(4)  T[; d/ wkfgnK ù ej' fe T[; ù ;e{b ftu'A jNk b?D 

27 The term Identical Elements is closely associated with: 

(1) Similar test questions                         (2) Jealousy between peers 

(3) Transfer of learning                            (4) Group Instructions 

27 Ò;wkB sZsÓ gd dk fBeNsw ;zpzX fe; Bkb WLÒ;wkB sZsÓ gd dk fBeNsw ;zpzX fe; Bkb WLÒ;wkB sZsÓ gd dk fBeNsw ;zpzX fe; Bkb WLÒ;wkB sZsÓ gd dk fBeNsw ;zpzX fe; Bkb WL    
(1) ;wkB gohfynk gqôB    (2) jwFo[sp ftueko Jhoyk  
(3) f;ZyD dk j;sKsoB    (4) ;w{je f;fynk 

28  Who was the pioneer of Classical Conditioning: 

(1) Skinner           (2) Pavlov              (3) Watson               (4) Thorndike 

28 ebk;heh nB[e{bD dk gotose e"D ;hLebk;heh nB[e{bD dk gotose e"D ;hLebk;heh nB[e{bD dk gotose e"D ;hLebk;heh nB[e{bD dk gotose e"D ;hL    
(1) ;feBo  (2) g?tb't  (3) t?N;B  (4) E"oBvkJhe 
 

29 It is said that teacher should be resourceful, This means that: 

(1) He should have enough money & property so that he may not have to take up tuitions 
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(2) He should have contacts with high authorities so that he may not be harmed 

(3) He should have adequate knowledge so that he may be able to solve the problems of students 

(4) He should have good reputation among students so that authorities may not be able to take any 

punitive measure against him 

29 fJjfJjfJjfJj fejk iKdk W fe ÒnfXnkge ;kXBF;zgzB j'Dk ukjhdk W.Ó fJ; dk wsbp W feL fejk iKdk W fe ÒnfXnkge ;kXBF;zgzB j'Dk ukjhdk W.Ó fJ; dk wsbp W feL fejk iKdk W fe ÒnfXnkge ;kXBF;zgzB j'Dk ukjhdk W.Ó fJ; dk wsbp W feL fejk iKdk W fe ÒnfXnkge ;kXBF;zgzB j'Dk ukjhdk W.Ó fJ; dk wsbp W feL    
(1) T[; e'b n?Bk g?;k ns/ ikfJdkd j't/ fe T[; ù fNT{ôBK Bk eoBhnK g?D   
(2) T[; dk T[Zu nfXekohnK Bkb ;zgoe j't/ sK fe T[; dk B[e;kB Bk j' ;e/  
(3) T[; e'b T[g:[es frnkB j't/ sK fe T[j ftfdnkoEhnK dhnK ;wZf;nktK ù jZb eo ;e/.  
(4) T[; dh ftfdnkoEhnK ftu uzrh gqfsômk j't/ sK fe nfXekoh T[; d/ fõbkc e'Jh dzvkswe ekotkJh Bk 
eo ;eD. 

30 Which of the following Motives are considered as primary motives: 

(1) Physiological Motives        (2) Psychological Motives       

(3) Social Motives          (4) Educational Motives 

30 fejV/ gq:'iBK ù gqkEfwe gq:'iB fejk iKdk WLfejV/ gq:'iBK ù gqkEfwe gq:'iB fejk iKdk WLfejV/ gq:'iBK ù gqkEfwe gq:'iB fejk iKdk WLfejV/ gq:'iBK ù gqkEfwe gq:'iB fejk iKdk WL    
(1) ;ohoFftfrnkBe gq:'iB      (2) wB'ftfrnkBe gq:'iB  
(3) ;wkie gq:'iB       (4) f;fynkswe gq:'iB 

 

 ENGLISH LANGUAGE – 30 QUESTIONS (31-60) 

  Read the passage carefully and answer the questions (Q. 31-37)  that follow by choosing the best 

alternative: 

In these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only 

energy source that is still immune to price fluctuations: the Sun. Economic necessity appears to be 

largely responsible for the rapidly growing acceptance of solar heat as an alternative source. 

Electricity has been a clean and versatile form of energy that continues to grow in importance for 

lighting, heating and cooking, and for powering our increasingly automated and computerized 

society. The demand for electricity is expected to grow more in future than the average trend in the 

past. A mix of energy sources is required as hedge against shortages in any one area, and the 

electricity supply companies are taking a second look at renewable generating technologies, 

particularly those based in the sun. Every 15 minutes, the sun delivers to earth radiant energy to 

meet all mankind's power needs for a full year. But harnessing this energy is complicated by two 

properties of sunlight: its diffuseness and its variability with time of day, season and weather 

conditions. These factors pose formidable technical challenges for the efficient conversion of solar 

radiation into bulk, utility grade electric power. Nevertheless, solar technologies are attractive to 

utilities because they are environment-friendly and offer a low regulatory risk, limited capital risk, 

and less lead time. 

 

31 Why are experts, according to the passage, looking at the sun as an energy source? 

 (1) due to depletion of other sources of energy 

(2) as other energy forms pollute the environment 

(3) increasing costs of other sources 

(4) all of the above 

32 Experts are impressed with the solar energy technologies because... 

(1) of them being good for the environment             (2) they require less investment 

(3) they can be employed in quick time              (4) all of these 

33 Why is sun such an important source of alternative energy? 

(1) it is available free of cost      

(2) it is available everywhere in the world 

(3) it can satisfy human energy requirements alone if tapped properly 

(4) all of these 

34 What is the major difficulty in employing solar energy? 

(1) fluctuations in weather                                (2) by nature sunlight is diffuse 
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(3) sunlight varies from time to time                 (4) all of these 

35  Why are power generating companies looking at mix energy options? 

(1) the sources of energy are getting scarce but demand is increasing 

(2) government is controlling prices of electricity 

(3) alternative sources of energy are available free and without regulations 

(4) all of these 

36 Identify the word closest in meaning to the word: "VERSATILE" 

(1) limited      (2) resourceful  (3) permanent    (4) invariable 

37 Identify the word opposite in meaning to the word: "FORMIDABLE" 

(1) alarming     (2) frightening  (3) terrible   (4) insignificant 

  Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best 

alternative: 

The political system always dominates the entire social scene; and hence those who wield political power 

are generally able to control all the different social sub-systems and manipulate them to their own 

advantage. The social groups in power therefore have always manipulated the education systems, 

especially when these happen to depend upon the state for their very existence to strengthen and 

perpetuate their own privileged position. But herein lies a contradiction. For the very realization of their 

selfish ends, the social groups in power are compelled to extend the benefits of these educational 

systems to the under-privileged groups also. The inevitable task is generally performed with three 

precautions abundantly taken care of: One, the privileged groups continue to be the principal 

beneficiaries of the educational system, dominate the higher stages of education or the hard core of 

prestigious and quality institutions or the most useful of courses, so as to safeguard their dominant 

position of leadership in all walks of life; Second, the system is so operated that under-privileged groups 

can utilize it only marginally in real terms and the bulk of them become either dropouts or pushouts and 

get reconciled to their to their own interior status in society; Third, the few from the weaker section that 

survive and succeed in spite of all the handicaps are generally co-opted within the system to prevent 

dissatisfaction. 

38 Who, according to the passage, can manipulate the systems to their advantage? 

(1) social activists (2) popular people (3) political powerful people         (4) all of the above 

39 How do socially powerful people try to maintain their privileged position? 

(1) by maintaining control over political systems          (2) by maintaining control over social systems 

(3) by maintaining control over education systems      (4) all of these 

40 Why underprivileged sections have to reconcile to their inferior status? 

(1) they are unable to effectively utilize the education system 

(2) they have no interest in the system 

(3) they are illiterate 

(4) all of these 

41  Which is the best explanation as to why the few from the weaker section that survive and succeed 

in spite of all the handicaps are generally co-opted within the system? 

(1) to prevent the revolt in the society                                         (2) to satisfy their instinct 

(3) to augument the position of the privileged class            (4) all of these 

42 Which system, according to the passage, dominates the social system? 

(1) political system (2) education system (3) caste system    (4) monetary system 

43 Identify the word closest in meaning to the word: "PERPETUATE". 

(1) abort               (2) ruin                          (3) continue              (4) omit 

44 Identify the word opposite in meaning to the word: "PRESTIGIOUS". 

(1) obscure                 (2) influential                (3) esteemed                   (4) impressive 

45 What is the major idea reflected in the passage? 

(1) powerful people are unable to fully control the system 

(2) major benefits have been snatched by the underprivileged 

(3)  both of these 

(4) none of these 

46  While writing a notice, the writer should prefer... 

(1) active voice                (2) passive voice   (3) any voice                 (4) none of these 
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47  Where will you add disclosures in a letter? 

(1) below the signature and the right side margin       (2)  below the signature and the left side margin 

(3) above the signature and the right side margin       (4) any of these  

48  'Phonetics' is basically associated with... 

(1) sounds               (2) sentences                 (3) grammar                 (4) all of these 

49 Remedial teaching... 

(1) fills the gap that creeps into a pupil's learning 

(2) rectifies the concepts which have been misunderstood 

(3) helps in retaining homogeneity in the class  

(4) all of these 

50 Learning a language is a... 

(1) gradual process  (2) fast process  (3) instant process  (4) all inclusive process 

51 Study of meaning in a language is known as... 

(1) syntax               (2) semantics               (3) morphology  (4) linguistics 

52  ''REGISTER" is... 

(1) variety of language according to region in a particular country 

(2) variety of language according to countries 

(3) any of these 

(4) none of these 

53  /m/ sound in the word 'make' is.... 

(1) labio-dental                 (2) dental                   (3) bilabial                  (4) alveolar 

54 Which of the following organs of speech is also known as 'VELUM'? 

(1) hard palate              (2) voice box                   (3) alveolar ridge            (4) soft palate 

55  The major difference between an 'ARTICLE' and 'SPEECH' is.... 

(1) speech is more formal                              (2) speech is more informal 

(3) speech is more descriptive                                (4) all of these 

56  Communicative Language Teaching replaced basically... 

(1) Natural Language Processing                               (2) Structural Teaching 

(3) Situational Language Teaching               (4) Motivational Teaching 

57 Find the word nearest in meaning to : REMORSE 

(1) obdurate                 (2) hard                 (3) penitent              (4) none of these 

58 Find the word opposite in meaning to : INSIPID 

(1) impalatable                (2) bland                (3) tame              (4) savoury 

59  Identify the correct passive voice of the sentence: Obey me. 

(1) I should be obeyed                                    (2) Let I be obeyed 

(3) both, a and b                                    (4) none of these 

60 Find the appropriate preposition to fill in the sentence: She lives ....... Mumbai. 

(1) at                            (2) in                               (3) into                          (4) on 

 

 PUNJABI LANGUAGE – 30 QUESTIONS (61 - 90) 

        j/m fby/ g?o/Q ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ g?o/Q ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ g?o/Q ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ g?o/Q ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL (Q.61-68)    

nZi ;kv/ ;wki dh jkbs T[; soQK dh j' rJh W fijVh r[o{ BkBe d/t ih d/ iBw s'A gfjbK ;h. Xow dh 
d[otos'A ngD/ fBZih ;[nkoEK tk;s/ j' ojh W fi; d/ Bshi/ pj[s fGnkBe fBZeb oj/ jB. M{m, esb/nkw, 
fGqôNkuko, j/okc/ohnK ns/ j?tkBhns dk p'bpkbk j' frnk W. rZb eh fJB;kBhns wo rJh W ns/ 
r[zvkFoki gqXkB j' frnk W. fJj ;G e[M g?;/ ns/ ô[jos tk;s/ j' fojk W. nj[d/ ns/ e[o;hnK dh G[Zy B/ wB[Zy 
ù ikBto pDk fdZsk W. wkfJnk fJeZmh eoB bJh jo fJe soQK dk ikfJ÷FBikfJ÷ sohek tofsnk ik fojk 
W fi; ftu nkgfDnK Bkb p/JhwkBhnK ns/ dö/pkihnK ehshnK ik ojhnK jB. fgT[Fg[Zso ns/ 
GoktKFGoktK dh ikfJdkd ykso bVkJh esbK sZe gj[zu iKdh W. foôs/FBkfsnK ftu fwmk; BjhA ojh fi; 
d/ f;ZN/ ti'A XhnKFg[Zso p/w[jko/ j' rJ/ jB ns/ wkfgnK dk ngwkB ehsk ik fojk W. Bz{jK dki dh ykso pbh 
uVQ ojhnK jB, Go{D jZfsnk s/÷h Bkb tX ojh W ns/ pbkseko dhnK xNBktK s/÷h Bkb tX ojhnK jB. 
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fdB fdjkV/ b[ZNKFy'jK, u'ohnKFvke/ ns/ pZfunK ù nrtk eoB dhnK xNBktK fdB'FfdB tX ojhnK jB. 
fco"sh Bk fwbD dh ;{os ftu wk;{w pZfunK dk p/Fofjwh Bkb esb ehsk ik fojk W. j;gskbK ftu woh÷K 
dh ikB Bkb fybtkV ehsk ik fojk W. fJB;kBhns fJE'A sZe wo u[Zeh W fe fiT[AfdnK Bkb sK j/okFc/ohnK 
j' jh ojhnK jB, w[ofdnK ù th pyfônk BjhA ik fojk. eksb poh j' oj/ jB ns/ p/Fr[Bkj cK;h uVQ oj/ jB. 
ôk;e tor d/ x[NkfbnK d/ ns/ t;hfbnK s'A tZX ikfJdkd pDkT[D d/ e/; uZb oj/ jB. Xkofwesk d/ BK Ós/ 
v/okFtkd j'Ad ftu nk u[Zek W fijVk Xow dh nkV ftu jo/e p[okJh ù ;fji/ jh nz÷kw d/ fojk W. wdo 
N?o/;k ns/ Grs g{oB f;zx dhnK T[dkjoDK f;oc feskpK d/ gzfBnK dk fôzrko pD e/ ofj rJhnK jB. 

61 nZi d/ ;wki dh jkbs fej' fijh j' rJh WLnZi d/ ;wki dh jkbs fej' fijh j' rJh WLnZi d/ ;wki dh jkbs fej' fijh j' rJh WLnZi d/ ;wki dh jkbs fej' fijh j' rJh WL    
(1) tgkoe j' rJh W     (2) T[d:'fre ftek; j' frnk W  
(3) r[o{ BkBe d/t ih d/ iBw s'A gfjbK tkbh j' rJh W  (4) n;ZfGne j' rJh W. 

62 fJB;kBhns ffJB;kBhns ffJB;kBhns ffJB;kBhns feT[A wo rJh W ns/ r[zvk oki feT[A gqXkB j' frnk W<eT[A wo rJh W ns/ r[zvk oki feT[A gqXkB j' frnk W<eT[A wo rJh W ns/ r[zvk oki feT[A gqXkB j' frnk W<eT[A wo rJh W ns/ r[zvk oki feT[A gqXkB j' frnk W<    
(1) fJj ;G e[M g?;/ ns/ ô[jos bJh j' fojk W.  (2) fJj p[ybkjN ekoB j' fojk W. 
(3) fJj B?fse edoKFehwsK dh froktN ekoB j' fojk W.   (4) ;oeko fJ; ù o'eD bJh e[M BjhA eo ojh. 

63 g[Zso tb'A fgT[ dk esb feT[Ag[Zso tb'A fgT[ dk esb feT[Ag[Zso tb'A fgT[ dk esb feT[Ag[Zso tb'A fgT[ dk esb feT[A ehsk iKdk W< ehsk iKdk W< ehsk iKdk W< ehsk iKdk W<    
(1) gfotkoe eb/ô ekoB         (2) fe;/ T[s/iBk ekoB  
(3) ikfJdkd ykso     (4) fe;/ j'o ;wkfie ekoB eoe/. 

64 wk;{w pZfunK dk esb feT[A ehsk iKdk W<wk;{w pZfunK dk esb feT[A ehsk iKdk W<wk;{w pZfunK dk esb feT[A ehsk iKdk W<wk;{w pZfunK dk esb feT[A ehsk iKdk W<    
(1) wk;{w pZfunK d/ wkfgnK s'A pdbk b?D bJh  (2) fco"sh Bk fwbD eoe/ 
(3) g[okDh d[ôwDh eoe/       (4) fJBQK s'A fJbktk fe;/ j'o ekoB eoe/ 

65 j;gskbK ftu woh÷K Bkb fej' fijk toskU ehsk iKdk W<j;gskbK ftu woh÷K Bkb fej' fijk toskU ehsk iKdk W<j;gskbK ftu woh÷K Bkb fej' fijk toskU ehsk iKdk W<j;gskbK ftu woh÷K Bkb fej' fijk toskU ehsk iKdk W<    
(1) woh÷K ù w[cs dtkJhnK fdZshnK iKdhnK jB           (2) fJbki bJh tXhnk vkeNoh ;/tk T[gbpX W 
(3) fJbki wfjzrk W            (4) woh÷K dh ikB Bkb fybtkV ehsk iKdk W. 

66 ôk;e tor dh gqf;ZXh fe; gq;zr ftu j' ojh W<ôk;e tor dh gqf;ZXh fe; gq;zr ftu j' ojh W<ôk;e tor dh gqf;ZXh fe; gq;zr ftu j' ojh W<ôk;e tor dh gqf;ZXh fe; gq;zr ftu j' ojh W<    
(1) t'NK tk;s/ ö?o wB[Zyh sohe/ tosD ftu  (2) x[NkfbnK d/ e/;K ftu c;D eoe/ 
(3) e[o;h dh G[Zy eoe     (4) ;wki ;/tk ftu w'joh ofjD eoe/ 

67 Xkofwesk d/ BK Ós/ eh j' fojk W<Xkofwesk d/ BK Ós/ eh j' fojk W<Xkofwesk d/ BK Ós/ eh j' fojk W<Xkofwesk d/ BK Ós/ eh j' fojk W<    
(1) Xkofwe n;EkBK s/ nkbhôkB gZEo bZr fojk W  (2) Xow dk gquko j' fojk W 
(3) v/oktkd j'Ad ftu nk fojk W    (4) fJBQK ftu'A e'Jh th BjhA 

68 feskph gzfBnK sZe e"D ;hws ofj frnk W<feskph gzfBnK sZe e"D ;hws ofj frnk W<feskph gzfBnK sZe e"D ;hws ofj frnk W<feskph gzfBnK sZe e"D ;hws ofj frnk W<    
(1) wdo N?o/;k s/ Grs g{oB f;zx    (2) v/o/ tkb/ pkp/  
(3) Xow d/ m/e/dko     (4) fJBQK ftu'A e'Jh th BjhA 

    j/m fby/ ekftFpzd ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ ekftFpzd ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ ekftFpzd ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL j/m fby/ ekftFpzd ù fXnkB Bkb gVQ e/ j/mK fdZs/ gqôBK d/ uko T[ZsoK ftu'A fJe mhe T[Zso fdUL (Q. 69-

75)    
    nZi c/o dwkwk :[ZX dk tZfink 
 rZihJ/ oD ftu yVQ e/ 
 jZe ns/ fJB;kø dh ykso 
 jZE GrkT[sh cV e/  
 T[j izwDk th ekjdk izwDk 
 T[j ihDk eh ihDk 
 i/ Bk ykJ/ bj{ T[pkbk 
 i/ Bk v"b/ coe/. 
    

69 fJ; ekftFpzd dhnK gfjbhnK d' s[eK ù ;kXkoB tkose ftu fby'LfJ; ekftFpzd dhnK gfjbhnK d' s[eK ù ;kXkoB tkose ftu fby'LfJ; ekftFpzd dhnK gfjbhnK d' s[eK ù ;kXkoB tkose ftu fby'LfJ; ekftFpzd dhnK gfjbhnK d' s[eK ù ;kXkoB tkose ftu fby'L    
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(1) izr d/ w?dkB ftu pZdb tKr rZiDk ukjhdk W.  
(2) :[ZX dk dwkwk tZi frnk W ns/ ;kù oDFG{wh ftu i'ô Bkb rZiDk ukjhdk W. 
(3) :[ZX ns/ fJôe d/ w?dkB ftu ;G e[M mhe j[zdk W . 
(4) oDFG{wh rZiD bJh jh j[zdh W.  

70 GrkT[sh dk ;wkBFnoEe ôpd fejVk W<GrkT[sh dk ;wkBFnoEe ôpd fejVk W<GrkT[sh dk ;wkBFnoEe ôpd fejVk W<GrkT[sh dk ;wkBFnoEe ôpd fejVk W<    
(1) d/th d[ork  (2) uzvh   (3) feogkB  (4) e'Jh th ô;so 

71 fJB;kø dk fto'Xh ôpd fejVk W<fJB;kø dk fto'Xh ôpd fejVk W<fJB;kø dk fto'Xh ôpd fejVk W<fJB;kø dk fto'Xh ôpd fejVk W<    
(1) t?o fto'X  (2) fBnK  (3) p/fJB;køh  (4) ;zs[bB 

72 ÒT[j izwDk th ekjdk izwDkÒT[j izwDk th ekjdk izwDkÒT[j izwDk th ekjdk izwDkÒT[j izwDk th ekjdk izwDk T[j ihDk eh ihDkÓ ftu fe; nbzeko dh tos'A ehsh rJh W< T[j ihDk eh ihDkÓ ftu fe; nbzeko dh tos'A ehsh rJh W< T[j ihDk eh ihDkÓ ftu fe; nbzeko dh tos'A ehsh rJh W< T[j ihDk eh ihDkÓ ftu fe; nbzeko dh tos'A ehsh rJh W<    
(1) o{g nbzeko    (2) s[bBk nbzeko (3) nfseEBh nbzeko (4) nB[gqk; nbzeko 

73 ÒizwDkÓ dk pj[FnoEe i[ZN fJBQK ftu'A fejVk mhe W<ÒizwDkÓ dk pj[FnoEe i[ZN fJBQK ftu'A fejVk mhe W<ÒizwDkÓ dk pj[FnoEe i[ZN fJBQK ftu'A fejVk mhe W<ÒizwDkÓ dk pj[FnoEe i[ZN fJBQK ftu'A fejVk mhe W<    
(1) izwDk ns/ woBk (2) iBw ns/ g?dkfJô (3) f;oiDk ns/ T[dGt  (4) izwDk ns/ ihDk 

74 v"b/ coeD s'A eh Gkt W<v"b/ coeD s'A eh Gkt W<v"b/ coeD s'A eh Gkt W<v"b/ coeD s'A eh Gkt W<    
(1) y{B trDk  (2) i'ô ftu nkT[Dk (3) T[s/fis j'Dk  (4) ;zs[bB rtkT[Dk 

75 fJ; ekftFpzd ftu fejV/ Òo;Ó dh Gowko W<fJ; ekftFpzd ftu fejV/ Òo;Ó dh Gowko W<fJ; ekftFpzd ftu fejV/ Òo;Ó dh Gowko W<fJ; ekftFpzd ftu fejV/ Òo;Ó dh Gowko W<    
(1) ôKs o;  (2) fôzrko o;  (3) pho o;  (4) Grsh o; 

76 fijVh Gkôk  pZuk nkgD/ nkb/ d[nkb/ ftu'A f;Zydk j?.fijVh Gkôk  pZuk nkgD/ nkb/ d[nkb/ ftu'A f;Zydk j?.fijVh Gkôk  pZuk nkgD/ nkb/ d[nkb/ ftu'A f;Zydk j?.fijVh Gkôk  pZuk nkgD/ nkb/ d[nkb/ ftu'A f;Zydk j?.    
(1) gfjbh Gkôk            (2) d{ih Gkôk    (3) wks Gkôk    (4) j'o Gkôk     

77 pZuk fijVh Gkôk  ;e{b ftu'A rqfjD eodk j?.pZuk fijVh Gkôk  ;e{b ftu'A rqfjD eodk j?.pZuk fijVh Gkôk  ;e{b ftu'A rqfjD eodk j?.pZuk fijVh Gkôk  ;e{b ftu'A rqfjD eodk j?.    
(1) wks Gkôk             (2) d{ih Gkôk    (3) gfjbh Gkôk   (4) T[gGkôk     

78 pZuk xo d/ tksktoB ftu'A fejV/ Gkôk  e"ôb f;Zy b?Adk j?.pZuk xo d/ tksktoB ftu'A fejV/ Gkôk  e"ôb f;Zy b?Adk j?.pZuk xo d/ tksktoB ftu'A fejV/ Gkôk  e"ôb f;Zy b?Adk j?.pZuk xo d/ tksktoB ftu'A fejV/ Gkôk  e"ôb f;Zy b?Adk j?.    
(1) ;[DBJp'bD            (2) ;[DBJgVQB   (3) gVQBJfbyD   (4) p'bDJfbyD 

79 ;e{b ftu'A T[j fejV/ Gkôk  e"ôb f;Zydk j? <;e{b ftu'A T[j fejV/ Gkôk  e"ôb f;Zydk j? <;e{b ftu'A T[j fejV/ Gkôk  e"ôb f;Zydk j? <;e{b ftu'A T[j fejV/ Gkôk  e"ôb f;Zydk j? <    
(1) p'bDJgVQB           (2) p'bDJfbyD  (3) fbyDJgVQB   (4) gVQBJ;[DB 

80 id'A e'Jh r?o gzikph, gzikph Gkôk  f;Zydk j? sK T[; bJh fejVh Gkôk  id'A e'Jh r?o gzikph, gzikph Gkôk  f;Zydk j? sK T[; bJh fejVh Gkôk  id'A e'Jh r?o gzikph, gzikph Gkôk  f;Zydk j? sK T[; bJh fejVh Gkôk  id'A e'Jh r?o gzikph, gzikph Gkôk  f;Zydk j? sK T[; bJh fejVh Gkôk  j't/rh.j't/rh.j't/rh.j't/rh.    
(1) wks Gkôk            (2) d{ih Gkôk    (3) gfjbh Gkôk   (4) ftd/ôh Gkôk  

81 Gkôk  f;ybkJh d/ fezB/ e"Pb jB <Gkôk  f;ybkJh d/ fezB/ e"Pb jB <Gkôk  f;ybkJh d/ fezB/ e"Pb jB <Gkôk  f;ybkJh d/ fezB/ e"Pb jB <    
(1) fszB           (2) uko   (3) d'    (4) gzi 

82 Gkôk  Bz{ f;ZyD bJh fB:wpZX gqDkbh eh j? <Gkôk  Bz{ f;ZyD bJh fB:wpZX gqDkbh eh j? <Gkôk  Bz{ f;ZyD bJh fB:wpZX gqDkbh eh j? <Gkôk  Bz{ f;ZyD bJh fB:wpZX gqDkbh eh j? <    
(1) T[gGkôk    (2) fbgh   (3) ftnkeoD   (4) ekoi ô?bh 

83 eh Gkôk  f;ZyD bJh ftnkeoD wjZstg{oB o'b ndk eodh j? <eh Gkôk  f;ZyD bJh ftnkeoD wjZstg{oB o'b ndk eodh j? <eh Gkôk  f;ZyD bJh ftnkeoD wjZstg{oB o'b ndk eodh j? <eh Gkôk  f;ZyD bJh ftnkeoD wjZstg{oB o'b ndk eodh j? <    
(1) jK    (2) BjhA   (3) ôkfJd   (4) gsk BjhA 

84 eh rbshnK Gkôk  f;ZyD ftu wdd eodhnK jB <eh rbshnK Gkôk  f;ZyD ftu wdd eodhnK jB <eh rbshnK Gkôk  f;ZyD ftu wdd eodhnK jB <eh rbshnK Gkôk  f;ZyD ftu wdd eodhnK jB <    
(1) jK    (2) fpbe[b BjhA  (3) E'VQk pj[s   (4) ôkfJd 

85 Gkôk  f;ZyD bJh ;G s'A wjZstg{oB ;Gkôk  f;ZyD bJh ;G s'A wjZstg{oB ;Gkôk  f;ZyD bJh ;G s'A wjZstg{oB ;Gkôk  f;ZyD bJh ;G s'A wjZstg{oB ;o's eh j[zdk j? .o's eh j[zdk j? .o's eh j[zdk j? .o's eh j[zdk j? .    
(1) gkm g[;seK   (2) pb?e p'ov   (3) gq?eNheb   (4) gq:'rôkbk 

86  ni'e/ ;w/A ftu ;G s'A tZX wjZstg{oB ;kXB fejVk j?. ni'e/ ;w/A ftu ;G s'A tZX wjZstg{oB ;kXB fejVk j?. ni'e/ ;w/A ftu ;G s'A tZX wjZstg{oB ;kXB fejVk j?. ni'e/ ;w/A ftu ;G s'A tZX wjZstg{oB ;kXB fejVk j?.    
(1) ezfgT{No   (2) gkm g[;seK   (3) fJzNoftT{   (4) pb?e p'ov 

87 pZfunK dh Gkôk  f;ZyD dh ;woZEk fe; soQK goyh iKdh j?.pZfunK dh Gkôk  f;ZyD dh ;woZEk fe; soQK goyh iKdh j?.pZfunK dh Gkôk  f;ZyD dh ;woZEk fe; soQK goyh iKdh j?.pZfunK dh Gkôk  f;ZyD dh ;woZEk fe; soQK goyh iKdh j?.    
(1) w[bKeD ftXh  (2) gq?eNheb   (3) w"fye gqhfynk  (4) fbysh ftXh 

88 ;o's Gkôk  s'A Nhuk Gkôk  f;ZyD bJh fejVh ftXh wdd eodh j? <;o's Gkôk  s'A Nhuk Gkôk  f;ZyD bJh fejVh ftXh wdd eodh j? <;o's Gkôk  s'A Nhuk Gkôk  f;ZyD bJh fejVh ftXh wdd eodh j? <;o's Gkôk  s'A Nhuk Gkôk  f;ZyD bJh fejVh ftXh wdd eodh j? <    
(1) w[bKeD ftXh  (2) nB[tkd ftXh  (3) gqsZy ftXh   (4) ekoi ftXh 

89  ni'e/ ;w/A ftu nB[tkd ftXh fejVh ekw:kp j? < ni'e/ ;w/A ftu nB[tkd ftXh fejVh ekw:kp j? < ni'e/ ;w/A ftu nB[tkd ftXh fejVh ekw:kp j? < ni'e/ ;w/A ftu nB[tkd ftXh fejVh ekw:kp j? <    
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(1) g{oB nB[tkd    (2) ng{oB nB[tkd  (3) wPhBh nB[tkd     (4) ftnkeoB nB[tkd 
90  ni'e/ ;w/A ftu Gkôk  f;ybkJh dh fejVh ftXh ngDkJh ik ojh j? < ni'e/ ;w/A ftu Gkôk  f;ybkJh dh fejVh ftXh ngDkJh ik ojh j? < ni'e/ ;w/A ftu Gkôk  f;ybkJh dh fejVh ftXh ngDkJh ik ojh j? < ni'e/ ;w/A ftu Gkôk  f;ybkJh dh fejVh ftXh ngDkJh ik ojh j? <    

(1) ebk; o{w nfXnkgB         (2) ;w{fje nfXnkgB 
(3) ftneshrs nfXnkgB     (4) e[dosh tksktoB nfXnkgB 

 

 SECTION - B 

 MATHEMATICS (BILINGUAL) – 30 QUESTIONS (91-120) 

91 The graph of the equation  is a line  

 (1) parallel to x-axis                                     (2) parallel to y-axis 

 (3) passing through origin                          (4) none of these 

91 ;wheoB ;wheoB ;wheoB ;wheoB   dk rqkc fJe o/yk WL dk rqkc fJe o/yk WL dk rqkc fJe o/yk WL dk rqkc fJe o/yk WL    
(1) x - neô d/ ;wkBKso    (2) y- neô d/ ;wkBKso  
(3) w{bFfpzd{ e'b'A r[÷odh    (4) T[go'es ftu'A e'Jh th BjhA 

92 The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its 

length is  

(1) 60
0
                                  (2) 45

0 
  (3) 90

0
                             (4) 180

0
 

92 ;{oi dh T[ukJh dk e'D, id'A ôhoô Xo[t dh goSkJhA dh bzpkJh fJ; dh bzpkJh d/ pokpo j't/, WL;{oi dh T[ukJh dk e'D, id'A ôhoô Xo[t dh goSkJhA dh bzpkJh fJ; dh bzpkJh d/ pokpo j't/, WL;{oi dh T[ukJh dk e'D, id'A ôhoô Xo[t dh goSkJhA dh bzpkJh fJ; dh bzpkJh d/ pokpo j't/, WL;{oi dh T[ukJh dk e'D, id'A ôhoô Xo[t dh goSkJhA dh bzpkJh fJ; dh bzpkJh d/ pokpo j't/, WL    
(1) 60

0
                                  (2) 45

0 
  (3) 90

0
                             (4) 180

0
 

93 Sum of a number of two digits and the number obtained by reversing the digits of the first number 

is 110. If the difference of the digits is 4, then the number is  

(1) 62                                     (2) 73
 
                            (3) 84

      
                             (4) 51 

93 d' nzeK dh ;zfynk dk i'V ns/ gfjbh ;zfynk d/ nzeK ù T[bNk e/ gqkgs ;zfynk d' nzeK dh ;zfynk dk i'V ns/ gfjbh ;zfynk d/ nzeK ù T[bNk e/ gqkgs ;zfynk d' nzeK dh ;zfynk dk i'V ns/ gfjbh ;zfynk d/ nzeK ù T[bNk e/ gqkgs ;zfynk d' nzeK dh ;zfynk dk i'V ns/ gfjbh ;zfynk d/ nzeK ù T[bNk e/ gqkgs ;zfynk 110 W. i/ nzeK dk nzso  W. i/ nzeK dk nzso  W. i/ nzeK dk nzso  W. i/ nzeK dk nzso 4 W  W  W  W 
sK ;zfynk WLsK ;zfynk WLsK ;zfynk WLsK ;zfynk WL    
(1) 62                                     (2) 73

 
                             (3) 84

      
                           (4) 51 

94 A and B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B 

alone can do this work? 

(1) 5                                      (2) 6                                (3) 7                                   (4) 8 

94 A ns/ ns/ ns/ ns/ B fJe ezw ù  fJe ezw ù  fJe ezw ù  fJe ezw ù 4 fdBK ftu eo ;ed/ jB ns/  fdBK ftu eo ;ed/ jB ns/  fdBK ftu eo ;ed/ jB ns/  fdBK ftu eo ;ed/ jB ns/ A fJeZbk fJ; ù  fJeZbk fJ; ù  fJeZbk fJ; ù  fJeZbk fJ; ù 12 fdBK ftu eo ;edk W.  fdBK ftu eo ;edk W.  fdBK ftu eo ;edk W.  fdBK ftu eo ;edk W. B fJeZbk  fJeZbk  fJeZbk  fJeZbk 
fJ; ezw ù fezB/ fdBK ftu eo/rkLfJ; ezw ù fezB/ fdBK ftu eo/rkLfJ; ezw ù fezB/ fdBK ftu eo/rkLfJ; ezw ù fezB/ fdBK ftu eo/rkL    
(1) 5                                      (2) 6                                 (3) 7                                     (4) 8 

95 A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken 

by him is 2 hrs 20 minutes, then the distance is  

(1) 18 km  (2)  14 km  (3) 13 km  (4)  12 km 

95 fJe nkdwh fJe nkdwh fJe nkdwh fJe nkdwh 12 km/hr dh oøsko Bkb e[M d{oh s? eodk W  ns/ dh oøsko Bkb e[M d{oh s? eodk W  ns/ dh oøsko Bkb e[M d{oh s? eodk W  ns/ dh oøsko Bkb e[M d{oh s? eodk W  ns/ 9 Km/hr dh oøsko Bkb tkg; nkT[Adk W. dh oøsko Bkb tkg; nkT[Adk W. dh oøsko Bkb tkg; nkT[Adk W. dh oøsko Bkb tkg; nkT[Adk W. 
i/ T[; ù fJ; ftu e[M ;wK i/ T[; ù fJ; ftu e[M ;wK i/ T[; ù fJ; ftu e[M ;wK i/ T[; ù fJ; ftu e[M ;wK 2 xN/  xN/  xN/  xN/ 20 fwzN bZfrnk j't/, sK d{oh fezBh WL fwzN bZfrnk j't/, sK d{oh fezBh WL fwzN bZfrnk j't/, sK d{oh fezBh WL fwzN bZfrnk j't/, sK d{oh fezBh WL    
(1) 18 km     (2)  14 km   (3) 13 km    (4)  12 km  

96 In a two digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the 

digits is 1/7 of the number, then the digit at the unit’s place is 

(1) 5   (2) 4    (3) 3   (4) 1 

96 d' nzeK tkbh ;zfynk ftu, d;thA EK s/ fgnk nze gfjb/ nze s/ gJ/ nze Bkb'A d' nzeK tkbh ;zfynk ftu, d;thA EK s/ fgnk nze gfjb/ nze s/ gJ/ nze Bkb'A d' nzeK tkbh ;zfynk ftu, d;thA EK s/ fgnk nze gfjb/ nze s/ gJ/ nze Bkb'A d' nzeK tkbh ;zfynk ftu, d;thA EK s/ fgnk nze gfjb/ nze s/ gJ/ nze Bkb'A 4 tZX W. nz tZX W. nz tZX W. nz tZX W. nzeK dk i'V ;zfynk eK dk i'V ;zfynk eK dk i'V ;zfynk eK dk i'V ;zfynk 
dk dk dk dk 1/7 W, sK gfjbh EK s/ fgnk nze WL W, sK gfjbh EK s/ fgnk nze WL W, sK gfjbh EK s/ fgnk nze WL W, sK gfjbh EK s/ fgnk nze WL    
(1) 5   (2) 4    (3) 3   (4) 1 

97 The area of a square is 64 cm
2. 

Then its perimeter is 

 (1) 64 cm                      (2) 32 cm   (3)  46 cm                 (4) 48 cm 

97 fJe tor dk y/socb fJe tor dk y/socb fJe tor dk y/socb fJe tor dk y/socb 64 cm
2 W.  W.  W.  W. fJ; dk gfowkg WLfJ; dk gfowkg WLfJ; dk gfowkg WLfJ; dk gfowkg WL    

(1) 64 cm                      (2) 32 cm   (3)  46 cm                 (4) 48 cm  

 

98 The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77,  then the other 

number is 
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 (1)  88         (2)  33   (3)  99                                (4) None of these 

98 d' ;zfynktK dk d' ;zfynktK dk d' ;zfynktK dk d' ;zfynktK dk HCF 11 ns/ ns/ ns/ ns/ LCM 693 W. i/ fJe ;zfynk W. i/ fJe ;zfynk W. i/ fJe ;zfynk W. i/ fJe ;zfynk 77 W, sK d{ih ;zfynk WL W, sK d{ih ;zfynk WL W, sK d{ih ;zfynk WL W, sK d{ih ;zfynk WL    
(1)  88         (2)  33   (3)  99                     (4) fJBQK ftu'A e'Jh th Bjh 

99 Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54. 

(1)  10368                         (2)  10432    (3)  10560   (4) None of these 

99 gzi nzeK tkbh S'Nh s'A S'Nh ;zfynk wkb{w eo' fi; ù gzi nzeK tkbh S'Nh s'A S'Nh ;zfynk wkb{w eo' fi; ù gzi nzeK tkbh S'Nh s'A S'Nh ;zfynk wkb{w eo' fi; ù gzi nzeK tkbh S'Nh s'A S'Nh ;zfynk wkb{w eo' fi; ù 16, 24, 36 ns/  ns/  ns/  ns/ 54 Bkb g{oh soQK tzfvnk ik ;e/L Bkb g{oh soQK tzfvnk ik ;e/L Bkb g{oh soQK tzfvnk ik ;e/L Bkb g{oh soQK tzfvnk ik ;e/L    
(1)  10368                         (2)  10432    (3)  10560   (4) fJBQK ftu'A e'Jh th BjhA 

100 The average of seven consecutive numbers is 20. The largest of these numbers is 

(1)  20                                (2)  22     (3)  23     (4)  24 

100 ;Zs eqfwe ;zfynktK dh n";s ;Zs eqfwe ;zfynktK dh n";s ;Zs eqfwe ;zfynktK dh n";s ;Zs eqfwe ;zfynktK dh n";s 20 W. fJBQK ftu'A ;G s'A W. fJBQK ftu'A ;G s'A W. fJBQK ftu'A ;G s'A W. fJBQK ftu'A ;G s'A tZvh ;zfynk WL tZvh ;zfynk WL tZvh ;zfynk WL tZvh ;zfynk WL    
(1)  20                                (2)  22     (3)  23     (4)  24 

101 The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height 

5cm is  

(1)   cm
3
                (2)   cm

3
                       (3)   cm

3
                       (4)  none of these 

101 1 Cm ftnk;koX ns/  ftnk;koX ns/  ftnk;koX ns/  ftnk;koX ns/ 5 Cm T[ukJh d/ nkXko tkbh r'b bZeV s'A eZN/ tZv/ r'b/ dk nkfdsB WLT[ukJh d/ nkXko tkbh r'b bZeV s'A eZN/ tZv/ r'b/ dk nkfdsB WLT[ukJh d/ nkXko tkbh r'b bZeV s'A eZN/ tZv/ r'b/ dk nkfdsB WLT[ukJh d/ nkXko tkbh r'b bZeV s'A eZN/ tZv/ r'b/ dk nkfdsB WL    

(1)   cm
3
                (2)   cm

3
                       (3)   cm

3
                       (4) fJBQK ftu'A e'Jh th BjhA 

102 
Rational expression   in the lowest form is 

(1)                        (2)                           (3)                          (4)  

102 fBT{Bsw o{g ftu gfow/n ftnzie fBT{Bsw o{g ftu gfow/n ftnzie fBT{Bsw o{g ftu gfow/n ftnzie fBT{Bsw o{g ftu gfow/n ftnzie   WL  WL  WL  WL    

(1)                        (2)                           (3)                          (4)  

 

 

 

 

 

The circle graph given here shows the spending (in degrees) of a country on various sports during 

the particular year. Study the graph carefully and answer the next three questions. (Q. NO. 103 - 

105) 

fJE/ fdZsk ftqs fuZso fJe ftô/ô ;kb d"okB fe;/ d/ô tb'A ftfGzB y/vK T[Zgo j'J/ you (fvroh ftu) fJE/ fdZsk ftqs fuZso fJe ftô/ô ;kb d"okB fe;/ d/ô tb'A ftfGzB y/vK T[Zgo j'J/ you (fvroh ftu) fJE/ fdZsk ftqs fuZso fJe ftô/ô ;kb d"okB fe;/ d/ô tb'A ftfGzB y/vK T[Zgo j'J/ you (fvroh ftu) fJE/ fdZsk ftqs fuZso fJe ftô/ô ;kb d"okB fe;/ d/ô tb'A ftfGzB y/vK T[Zgo j'J/ you (fvroh ftu) ù ù ù ù 
do;kT[Adk W. fJ; fuZso dk fXnkB Bkb nfXn?B eo' ns/ nrb/ fszB gqôBK d/ T[Zso fdT[. do;kT[Adk W. fJ; fuZso dk fXnkB Bkb nfXn?B eo' ns/ nrb/ fszB gqôBK d/ T[Zso fdT[. do;kT[Adk W. fJ; fuZso dk fXnkB Bkb nfXn?B eo' ns/ nrb/ fszB gqôBK d/ T[Zso fdT[. do;kT[Adk W. fJ; fuZso dk fXnkB Bkb nfXn?B eo' ns/ nrb/ fszB gqôBK d/ T[Zso fdT[.     
(Q. NO. 103 - 105) 

 

 

 

 

 

 

 

 

 

 

 

 

 

103 What percentage of the total spending is spent on tennis? 

 (1)  12                                (2)  22                                  (3)  25%                              (4)  45% 

103 e[b you/ dh fezB/  gqfsôssk N?fB; T[go õou ehsh iKdh WLe[b you/ dh fezB/  gqfsôssk N?fB; T[go õou ehsh iKdh WLe[b you/ dh fezB/  gqfsôssk N?fB; T[go õou ehsh iKdh WLe[b you/ dh fezB/  gqfsôssk N?fB; T[go õou ehsh iKdh WL    

(1)  12                                (2)  22                                  (3)  25%                              (4)  45% 

 
104 If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket 

and hockey together was 

 

 

 

 
 

 

 

                   

Other 

310 

Football 

540 

Cricket 

810 

Tennis 

450 
Hockey 

630 

Basketball 

630 

Golf 

360 
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 (1)  Rs. 8,00,000                    (2)  Rs. 80,00,000                    (3)  Rs. 1,20,00,000          (4) Rs. 1,60,00,000 

104 i/ ;kb d/ d"okB y/vK T[Zgo õou ehsh e[b oew i/ ;kb d/ d"okB y/vK T[Zgo õou ehsh e[b oew i/ ;kb d/ d"okB y/vK T[Zgo õou ehsh e[b oew i/ ;kb d/ d"okB y/vK T[Zgo õou ehsh e[b oew 2 eo'V W, sK feqeN ns/ jkeh T[Zgo fwbk e/ õou ehsh  eo'V W, sK feqeN ns/ jkeh T[Zgo fwbk e/ õou ehsh  eo'V W, sK feqeN ns/ jkeh T[Zgo fwbk e/ õou ehsh  eo'V W, sK feqeN ns/ jkeh T[Zgo fwbk e/ õou ehsh 
oew ;hLoew ;hLoew ;hLoew ;hL    
(1)   8,00,000 o[gJ/  (2) 80,00,000 o[gJ/ (3) 1,20,00,000 o[gJ/ (4) 1,60,00,000 o[gJ/ 

105 If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on 

basketball exceeds that of tennis approximately by  

 (1)  Rs. 2,50,000              (2) Rs. 3,60,000               (3)  Rs. 3,75,000              (4)  Rs. 4,10,000 

105 i/ ;kb ftu y/vK T[go õi/ ;kb ftu y/vK T[go õi/ ;kb ftu y/vK T[go õi/ ;kb ftu y/vK T[go õou ehsh e[b oew ou ehsh e[b oew ou ehsh e[b oew ou ehsh e[b oew 1,80,00,000 o[gJ/ j't/  sK pk;eNpkZb T[Zgo ehsk õouk N?fB;  o[gJ/ j't/  sK pk;eNpkZb T[Zgo ehsk õouk N?fB;  o[gJ/ j't/  sK pk;eNpkZb T[Zgo ehsk õouk N?fB;  o[gJ/ j't/  sK pk;eNpkZb T[Zgo ehsk õouk N?fB; 
T[go ehs/ õou/ Bkb'A brGr fezBk tZX WLT[go ehs/ õou/ Bkb'A brGr fezBk tZX WLT[go ehs/ õou/ Bkb'A brGr fezBk tZX WLT[go ehs/ õou/ Bkb'A brGr fezBk tZX WL    
(1) 2,50,000 o[gJ/ (2) 3,60,000 o[gJ/ (3) 3,75,000 o[gJ/ (4) 4,10,000 o[gJ/ 

106  The radius of a sphere whose volume and surface area have same value, is 

 (1)  1 unit                         (2)  2 units                         (3)  3 units                        (4)  4 units 

106 fJe r'b/ dk ftnk;koX, fi; d/ nkfdsB ns/ ;sj y/so dk ;wkB w[Zb WfJe r'b/ dk ftnk;koX, fi; d/ nkfdsB ns/ ;sj y/so dk ;wkB w[Zb WfJe r'b/ dk ftnk;koX, fi; d/ nkfdsB ns/ ;sj y/so dk ;wkB w[Zb WfJe r'b/ dk ftnk;koX, fi; d/ nkfdsB ns/ ;sj y/so dk ;wkB w[Zb W    
(1) 1 :{fBN  (2) 2 :{fBN  (3) 3 :{fBN  (4) 4 :{fBN 

107  In the number 3.4625, the place value of the digit 2 is 

 (1)  1000                          (2)  100                              (3)  1/1000                        (4) 1/100 

107 3.4625 ;zfynk ftu, ;zfynk ftu, ;zfynk ftu, ;zfynk ftu, 2 nze dk ;EkB w[Zb WL  nze dk ;EkB w[Zb WL  nze dk ;EkB w[Zb WL  nze dk ;EkB w[Zb WL     
(1)  1000                           (2)  100                              (3)  1/1000                        (4) 1/100 

108  Divide 50 by half and add 20. From the same, subtract 35. What do you get? 

(1)  10                               (2)  85                                 (3)  15                                 (4)  None of these 

108 50 ù nZX/ Bkb tzv' ns/ fJ; ftu  ù nZX/ Bkb tzv' ns/ fJ; ftu  ù nZX/ Bkb tzv' ns/ fJ; ftu  ù nZX/ Bkb tzv' ns/ fJ; ftu 20 i'V'. T[; ftu'A  i'V'. T[; ftu'A  i'V'. T[; ftu'A  i'V'. T[; ftu'A 35 xNk fdU. s[;hA eh gqkgs eod/ j'L xNk fdU. s[;hA eh gqkgs eod/ j'L xNk fdU. s[;hA eh gqkgs eod/ j'L xNk fdU. s[;hA eh gqkgs eod/ j'L    
(1)  10                   (2)  85                       (3)  15                                (4)  fJBQK ftu'A e'Jh th BjhA 

109 What number should be put in the blank box? 

7 5 9 18 

6 3 7 21 

4 3 9  

7 4 8 24 

(1)  9                                 (2)  27                                 (3)  36                              (4) none of these 

109 õkbh pe;/ ftu fejõkbh pe;/ ftu fejõkbh pe;/ ftu fejõkbh pe;/ ftu fejVh ;zfynk oZyDh ukjhdh WLVh ;zfynk oZyDh ukjhdh WLVh ;zfynk oZyDh ukjhdh WLVh ;zfynk oZyDh ukjhdh WL    
7 5 9 18 

6 3 7 21 

4 3 9  

7 4 8 24 

(1)  9                                 (2)  27                                 (3)  36                              (4) fJBQK ftu'A e'Jh th BjhA 
110 What is the next number after the following?  4, 9, 25, 49, ? 

(1)  64                              (2)  81                                  (3)  100                           (4)  121 

110 j/m fbfynK pknd nrbh ;zfynk eh WL   j/m fbfynK pknd nrbh ;zfynk eh WL   j/m fbfynK pknd nrbh ;zfynk eh WL   j/m fbfynK pknd nrbh ;zfynk eh WL   4, 9, 25, 49, ? 

(1)  64                              (2)  81                                  (3)  100                           (4)  121 
111  When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the 

denominator of the fraction? 

 (1)  6                               (2)  7                                    (3)  8                                (4) None of these 

111 i/ fJe fGzB d/ nzô  ftu i/ fJe fGzB d/ nzô  ftu i/ fJe fGzB d/ nzô  ftu i/ fJe fGzB d/ nzô  ftu 4 tXk fdZsk iKdk W, sK fGzB  tXk fdZsk iKdk W, sK fGzB  tXk fdZsk iKdk W, sK fGzB  tXk fdZsk iKdk W, sK fGzB 2/3 Bkb tX iKdh W. fGzB dk jo (fvBkfwB/No) eh  Bkb tX iKdh W. fGzB dk jo (fvBkfwB/No) eh  Bkb tX iKdh W. fGzB dk jo (fvBkfwB/No) eh  Bkb tX iKdh W. fGzB dk jo (fvBkfwB/No) eh 
WLWLWLWL    
(1)  6                                (2)  7       (3)  8                                (4) fJBQK ftu'A e'Jh th BjhA 

112 The HCF of  and  is 

(1)                     (2)                       (3)                  (4)  

112   ns/ ns/ ns/ ns/   dk  dk  dk  dk HCF WLWLWLWL    
(1)                     (2)   (3)                  (4)  
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113 The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is  

 (1)  20                             (2)  15                                  (3)  30                              (4)  34 

113 5 ;zfynktK dh n";s  ;zfynktK dh n";s  ;zfynktK dh n";s  ;zfynktK dh n";s 26 W. i/ fJe ;zfynk ù eZY fdZsk ikt/, sK fJBQK dh n";s  W. i/ fJe ;zfynk ù eZY fdZsk ikt/, sK fJBQK dh n";s  W. i/ fJe ;zfynk ù eZY fdZsk ikt/, sK fJBQK dh n";s  W. i/ fJe ;zfynk ù eZY fdZsk ikt/, sK fJBQK dh n";s 24 W. eZYh ;zfynk WL W. eZYh ;zfynk WL W. eZYh ;zfynk WL W. eZYh ;zfynk WL    
(1)  20                             (2)  15   (3)  30                              (4)  34 

114 How many carats are there in one gram? 

(1)  3                                (2)  4                                     (3)  5                               (4) None of these 

114 fJe rqkw ftu fezB/ e?oN jBLfJe rqkw ftu fezB/ e?oN jBLfJe rqkw ftu fezB/ e?oN jBLfJe rqkw ftu fezB/ e?oN jBL    
(1)  3                              (2)  4    (3)  5                               (4) fJBQK ftu'A e'Jh BjhA 

115 A plot has width of 44 feet and length of 90 feet. What is the size of the plot? 

(1)  500 square yards            (2)  450 square yards           (3)  440 sq. yards                (4)  none of these 

115 fJe gbkN dh uVQkJh fJe gbkN dh uVQkJh fJe gbkN dh uVQkJh fJe gbkN dh uVQkJh 44 c[ZN ns/ bzpkJh  c[ZN ns/ bzpkJh  c[ZN ns/ bzpkJh  c[ZN ns/ bzpkJh 90 c[ZN W. gbkN dk ;kJh÷ eh WL c[ZN W. gbkN dk ;kJh÷ eh WL c[ZN W. gbkN dk ;kJh÷ eh WL c[ZN W. gbkN dk ;kJh÷ eh WL    
(1) 500 tor r÷      (2) 450 tor r÷        (3) 440 tor r÷      (4) fJBQK ftu'A e'Jh  th BjhA 

116 One of, the students of a class hardly talks in the class. How would you encourage him to express 

himself? 

(1) By organizing discussions  

(2) By organizing educational games/ programmes in which children feel like speaking 

(3) By giving good marks to those who express them'selves well 

(4) By encouraging children to take part in classroom activities 

116 ebk; ftu fJe ftfdnkoEh pj[s w[ôfeb Bkb p'bdk  W. s[;hA T[; ù nkgD/ nkg ù ftnes eoB tk;s/ ebk; ftu fJe ftfdnkoEh pj[s w[ôfeb Bkb p'bdk  W. s[;hA T[; ù nkgD/ nkg ù ftnes eoB tk;s/ ebk; ftu fJe ftfdnkoEh pj[s w[ôfeb Bkb p'bdk  W. s[;hA T[; ù nkgD/ nkg ù ftnes eoB tk;s/ ebk; ftu fJe ftfdnkoEh pj[s w[ôfeb Bkb p'bdk  W. s[;hA T[; ù nkgD/ nkg ù ftnes eoB tk;s/ 
fet/A T[s;kfjs eo'r/Lfet/A T[s;kfjs eo'r/Lfet/A T[s;kfjs eo'r/Lfet/A T[s;kfjs eo'r/L    
(1) uouktK dk nk:'oB eo e/ . 
(2) f;fynkswe y/vK$gq'rqkwK dk nk:'iB eo/ e/ fiZE/ pZu/ p'bDk g;zd eod/ jB. 
(3) T[BQK ù uzr/ nze d/ e/ fejV/ nkgD/ nkg ù uzrh soQK ftnes eod/ jB. 
(4) pZfunK ù ebk; o{w rshftXhnK ftu fjZ;k b?D tk;s/ T[s;kfjs eo e/. 

117 Success in developing values is mainly dependent upon: 

(1) government                      (2) society                           (3) family                         (4) teacher 

117 ftek;ôhb w[ZbK ftu ;cbsk w[Zy s"o s/ fe; T[go fBoGo WLftek;ôhb w[ZbK ftu ;cbsk w[Zy s"o s/ fe; T[go fBoGo WLftek;ôhb w[ZbK ftu ;cbsk w[Zy s"o s/ fe; T[go fBoGo WLftek;ôhb w[ZbK ftu ;cbsk w[Zy s"o s/ fe; T[go fBoGo WL    
(1) ;oeko      (2) ;wki       (3) gfotko      (4) nfXnkge 

118 Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and I but not 

necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+I is equal to 13. What is 

the sum of C, E and G? 

(1) 7                                          (2) 9                                     (3) 11                             (4) Cannot be determined 

118 jo/e nze jo/e nze jo/e nze jo/e nze 1, 2, 3, 4, 5, 6, 7, 8 ns/  ns/  ns/  ns/ 9 ù fGzB nZyo  ù fGzB nZyo  ù fGzB nZyo  ù fGzB nZyo A, B, C, D, E. F, G H ns/ ns/ ns/ ns/ I d[nkok do;kfJnk frnk W, go  d[nkok do;kfJnk frnk W, go  d[nkok do;kfJnk frnk W, go  d[nkok do;kfJnk frnk W, go 
÷o{oh BjhA fe fJBQK dk eqw T[jh j't/. ÷o{oh BjhA fe fJBQK dk eqw T[jh j't/. ÷o{oh BjhA fe fJBQK dk eqw T[jh j't/. ÷o{oh BjhA fe fJBQK dk eqw T[jh j't/. Bkb/, Bkb/, Bkb/, Bkb/, A+B+C, C+D+E, E+F+G ns/ ns/ ns/ ns/ G+H+I ftu'A jo ftu'A jo ftu'A jo ftu'A jo/e /e /e /e 13 d/ pokpo W.  d/ pokpo W.  d/ pokpo W.  d/ pokpo W. C, 

E ns/ ns/ ns/ ns/ G dk b'V eh WL dk b'V eh WL dk b'V eh WL dk b'V eh WL    
(1) 7                 (2) 9                         (3) 11                      (4) fBoXkfos BjhA ehsk ik ;edk 

119 Which of the skills do you consider most essential for a teacher? 

(1) encourage children to search for knowledge 

(2) have all the information for the children 

(3) ability to make children memorize materials 

(4) enable children to do well in tests 

119 nfXnkge bJh ;G s'A nktZôe e[ôbsk fejVh j[zdh WLnfXnkge bJh ;G s'A nktZôe e[ôbsk fejVh j[zdh WLnfXnkge bJh ;G s'A nktZôe e[ôbsk fejVh j[zdh WLnfXnkge bJh ;G s'A nktZôe e[ôbsk fejVh j[zdh WL    
(1) ftfdnkoEhnK ù frnkB dh y'i bJh T[s;kfjs eoBk  
(2) pZfunK bJh ;koh ;{uBK gqkgs eoBk  
(3) pZfunK ftu t;sK ù :kd eoB dh :'rsk  
(4) pZfunK ù gohyDK ftu uzrk gqdoôB eoB d/ :'r pDkT[Dk. 

120 Absenteeism can be stopped  by:  

(1) Teaching                                                            (2) Punishing the students  

https://www.freshersnow.com/previous-year-question-papers/
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(3) Giving the sweets                                            (4) Contacting the parents 

120 r?ojk÷oh ù fe; okjhA o'fenk ik ;edk WLr?ojk÷oh ù fe; okjhA o'fenk ik ;edk WLr?ojk÷oh ù fe; okjhA o'fenk ik ;edk WLr?ojk÷oh ù fe; okjhA o'fenk ik ;edk WL    
(1) nfXnkgB     (2) ftfdnkoEhnK ù ;÷k d/Dk  
(3) NkchnK dk bkbu d/Dk   (4) wkfgnK Bkb ;zgoe eoBk    

 

 

 ENVIORNMENTAL SCIENCE – 30 QUESTIONS (121-150) 

121 Which of the following is a biodegradable waste? 

(1) Plastics   (2) Polythene  (3) Glass  (4) None of these 

121 j/m fby/ ftu'A fe; d/ ftnoE ù e[dosh sohe/ Bkb (j/m fby/ ftu'A fe; d/ ftnoE ù e[dosh sohe/ Bkb (j/m fby/ ftu'A fe; d/ ftnoE ù e[dosh sohe/ Bkb (j/m fby/ ftu'A fe; d/ ftnoE ù e[dosh sohe/ Bkb (biodegradable waste) ù rbkfJnk ik ;edk j? . ù rbkfJnk ik ;edk j? . ù rbkfJnk ik ;edk j? . ù rbkfJnk ik ;edk j? .    
(1) gbk;fNe     (2) g'b'fEB   (3) rbk;    (4) fJjBK ftu'A e'Jh BjhA 

122 Dachigam National Park is in which state? 

(1) Himachal Pradesh (2) J&K    (3) Tamilnadu              (4) Sikkam 

122 vkuhrw okôNoh gkoe fejV/ oki ftZu j? <vkuhrw okôNoh gkoe fejV/ oki ftZu j? <vkuhrw okôNoh gkoe fejV/ oki ftZu j? <vkuhrw okôNoh gkoe fejV/ oki ftZu j? <    
(1) fjwkub god/ô   (2) izw{ ns/ eôwho  (3) skfwbBkv{   (4) f;few 

123 Who started the Chipko Movement? 

(1) Kiran Bedi  (2) S. L Bahuguna (3) Medha Patkar     (4) None of these 

123 ÒÒfuge' nzBd'bB@ fe; B/ ô[o{ ehsk <ÒÒfuge' nzBd'bB@ fe; B/ ô[o{ ehsk <ÒÒfuge' nzBd'bB@ fe; B/ ô[o{ ehsk <ÒÒfuge' nzBd'bB@ fe; B/ ô[o{ ehsk <    
(1) feoB p/dh      (2) n?;H n?bH pj[r[Bk   (3) w/Xk gseko   (4) fJjBK ftu'A e'Jh BjhA 

124 When was PROJECT TIGER launched? 

(1) 2011  (2) 1970  (3) 1973                   (4) 2007 

124 gq'i?eN NkJhro ed'A ô[o{ j'fJnk <gq'i?eN NkJhro ed'A ô[o{ j'fJnk <gq'i?eN NkJhro ed'A ô[o{ j'fJnk <gq'i?eN NkJhro ed'A ô[o{ j'fJnk <    
(1)  2011    (2) 1970   (3) 1973   (4) 2007 

125 How much percentage of water in the oceans is drinkable? 

(1) 97.2%                           (2) 2.15%   (3) 0.65%                 (4) 0.0% 

125 ;w[zdo dk fezB/ gqshôs gkDh ghD :'r j? <;w[zdo dk fezB/ gqshôs gkDh ghD :'r j? <;w[zdo dk fezB/ gqshôs gkDh ghD :'r j? <;w[zdo dk fezB/ gqshôs gkDh ghD :'r j? <    
(1) 97.2%     (2) 2.15%     (3) 0.65%     (4) 0.0% 

126 What is BOD5? 

(1) Biochemical Oxygen Demand in 5 hrs  (2) Biochemical Oxygen Demand in 5 days 

(3) Biochemical Oxygen Demand in 5 months (4) Biochemical Oxygen Demand in 5 minutes 

126 BOD5 eh j? <  eh j? <  eh j? <  eh j? <     
(1) pkJhT e?wheb nke;hiB vhwKv 5 xzN/     (2) pkJhT e?wheb nke;hiB vhwKv 5 fdB  
(3) pkJhT e?wheb nke;hiB  vhwKv 5 wjhB/  (4) pkJhT e?wheb nke;hiB vhwKv 5 fwBN    

127 What type of radiation is trapped on the earth’s surface by the green house effect? 

(1) UV rays        (2) γ -rays                 (3) X-rays                        (4) IR rays 

127 Xosh dh ;sj s/ rohB jkT[; ù gqGkfts eoD tkbh fejVh tfefoD j[zdh j? <Xosh dh ;sj s/ rohB jkT[; ù gqGkfts eoD tkbh fejVh tfefoD j[zdh j? <Xosh dh ;sj s/ rohB jkT[; ù gqGkfts eoD tkbh fejVh tfefoD j[zdh j? <Xosh dh ;sj s/ rohB jkT[; ù gqGkfts eoD tkbh fejVh tfefoD j[zdh j? <    
(1) UV feoDK     (2) γ -feoDK   (3) X -feoDK    (4) IR feoDK    

128 London smog is found in? 

(1) Summer during day time                                 (2) Summer during morning time 

(3) Winter during day time                                   (4) Winter during morning time 

128 bzvB dh X[zd ed'A j[zdh j? <bzvB dh X[zd ed'A j[zdh j? <bzvB dh X[zd ed'A j[zdh j? <bzvB dh X[zd ed'A j[zdh j? <    
(1) rowhnK ftu fdB d/ ;w/A       (2) rowhnK ftu ;t/o t/b/ 
(3) ;odhnK ftu fdB d/ ;w/A       (4) ;odhnK  ftu ;t/o t/b/    

129 A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called? 

(1) Polar stratospheric cloud                                (2) Polar Vortex 

(3) Both (1) & (2)                                                   (4) None of these 

129 ;wskg wzvb ftu jtk dk s/i Gto fijVk nzNokefNek ù x/o/ j'J/ j? T[j eh ejkTA[dk j? <;wskg wzvb ftu jtk dk s/i Gto fijVk nzNokefNek ù x/o/ j'J/ j? T[j eh ejkTA[dk j? <;wskg wzvb ftu jtk dk s/i Gto fijVk nzNokefNek ù x/o/ j'J/ j? T[j eh ejkTA[dk j? <;wskg wzvb ftu jtk dk s/i Gto fijVk nzNokefNek ù x/o/ j'J/ j? T[j eh ejkTA[dk j? <    
(1) g'bo  ;N?N';c?ohe ebkT[v   (2) g'bo t'oN?e;     
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(3) d't/A (1) ns/ (2)     (4) fJjBK ftu'A e'Jh BjhA 
130 Bhopal gas tragedy occurred due to? 

(1) Methane                                                           (2) Phosgene 

(3) Methyl-isocyanate                                           (4) Methyl amine 

130 G'gkb r?; xNDk fed/ Bkb xNh <G'gkb r?; xNDk fed/ Bkb xNh <G'gkb r?; xNDk fed/ Bkb xNh <G'gkb r?; xNDk fed/ Bkb xNh <    
(1)   whE/B   (2) c';i/B  (3) whE/b nkJh;'ekJhB/N     (4) whE/b nwkJhB    

131 White lung cancer is caused by? 

(1) Asbestos     (2) Paper        (3) Textiles       (4) Silica 

131 ;c?d c/cV/ dk e?A;o fe; Bkb j[zdk j? <;c?d c/cV/ dk e?A;o fe; Bkb j[zdk j? <;c?d c/cV/ dk e?A;o fe; Bkb j[zdk j? <;c?d c/cV/ dk e?A;o fe; Bkb j[zdk j? <    
(1) n?;p/;Nk;     (2) g/go    (3)  N?e;NkJhb  (4) f;fbek    

132 Which of the following has greatest affinity for haemoglobin? 

(1) CO      (2) NO          (3) O2          (4) CO2  

132 fJjBK ftZu'A fe; dh jhw'rb'pfB Bkb ;fJjBK ftZu'A fe; dh jhw'rb'pfB Bkb ;fJjBK ftZu'A fe; dh jhw'rb'pfB Bkb ;fJjBK ftZu'A fe; dh jhw'rb'pfB Bkb ;ZZZZG s'A tZX ;wkBsk j? G s'A tZX ;wkBsk j? G s'A tZX ;wkBsk j? G s'A tZX ;wkBsk j? <<<<    
(1) CO        (2) NO          (3) O2          (4) CO2    

133 The first nuclear disaster occurred in the history of world on 

(1) 16
th

 August, 1945 (2) 26
th

 August, 1945 (3) 06
th

 August, 1945      (4) 08
th

 August, 1945 

133 ;z;ko d/ fJshjk; ftZu gfjbh gowkD{ nkgdk ed'A tkgoh ;h <;z;ko d/ fJshjk; ftZu gfjbh gowkD{ nkgdk ed'A tkgoh ;h <;z;ko d/ fJshjk; ftZu gfjbh gowkD{ nkgdk ed'A tkgoh ;h <;z;ko d/ fJshjk; ftZu gfjbh gowkD{ nkgdk ed'A tkgoh ;h <    
(1) 16 nr;s, 1945 (2) 26 nr;s, 1945 (3) 06 nr;s, 1945 (4) 08 nr;s, 1945    

134 When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special 

division to develop a green belt around Taj Mahal? 

(1) 2004                           (2) 1994                           (3) 1984                           (4) None of these 

134 Gkos d/ ;[gohwe'N B/ ski wfjb d/ nkb/Gkos d/ ;[gohwe'N B/ ski wfjb d/ nkb/Gkos d/ ;[gohwe'N B/ ski wfjb d/ nkb/Gkos d/ ;[gohwe'N B/ ski wfjb d/ nkb/----d[nkb/ rohB p?bN pDkT[D bJh tksktoD ns/ izrbks wzsokbk d[nkb/ rohB p?bN pDkT[D bJh tksktoD ns/ izrbks wzsokbk d[nkb/ rohB p?bN pDkT[D bJh tksktoD ns/ izrbks wzsokbk d[nkb/ rohB p?bN pDkT[D bJh tksktoD ns/ izrbks wzsokbk 
ù ed'A nd/ô fds/ <ù ed'A nd/ô fds/ <ù ed'A nd/ô fds/ <ù ed'A nd/ô fds/ <    
(1) 2004     (2) 1994   (3) 1984   (4) fJjBK ftu'A e'Jh BjhA    

135 Silent Valley, which has been raised to the status of National park, is situated in? 

(1) J&K                             (2) Tamilnadu                 (3) West Bengal               (4) Kerala 

135 w{e xkNh w{e xkNh w{e xkNh w{e xkNh (silent valley) fi;ù okôNoh gkoe dk doik fdsk frnk j?  fi;ù okôNoh gkoe dk doik fdsk frnk j?  fi;ù okôNoh gkoe dk doik fdsk frnk j?  fi;ù okôNoh gkoe dk doik fdsk frnk j? T[j feZE/ ;fEZs j? <T[j feZE/ ;fEZs j? <T[j feZE/ ;fEZs j? <T[j feZE/ ;fEZs j? <    
(1)  izw{ ns/ eôwho    (2) skfwb Bkv{   (3) gôuwh pzrkb   (4) e/obk 

136 Which of the following device(s) is used to control particulate pollutants? 

(1) Gravity settling chamber                     (2) Cyclone collector 

(3) Fabric filter                                             (4) All of the above 

 

136 eD god{ôD ù o'eD bJh j/m fby/ ftu'A fejV/ T[geoD dh tos'A ehsh iKdh j? <eD god{ôD ù o'eD bJh j/m fby/ ftu'A fejV/ T[geoD dh tos'A ehsh iKdh j? <eD god{ôD ù o'eD bJh j/m fby/ ftu'A fejV/ T[geoD dh tos'A ehsh iKdh j? <eD god{ôD ù o'eD bJh j/m fby/ ftu'A fejV/ T[geoD dh tos'A ehsh iKdh j? <    
(1)  ro/ftNh ;?Nfbzr u?wpo (r[o{skeoôD BhgNkD eeô)    (2) ;kJheb""D eb?eNo  
(3) c?pfoe fcbNo       (4) T[go fbZy/ ;ko/     

137 Noise pollution (Regulation & Control) Rules 2001 deals with? 

(1) Noise pollution due to fire crackers   (2) Noise pollution due to loudspeakers 

(3) Noise pollution due to public address system  (4) Both (2) & (3) 

 

137 o"bk god{ôD (tfBfwnB ns/ ekp{) fB:w o"bk god{ôD (tfBfwnB ns/ ekp{) fB:w o"bk god{ôD (tfBfwnB ns/ ekp{) fB:w o"bk god{ôD (tfBfwnB ns/ ekp{) fB:w 2001 fed/ Bkb  fed/ Bkb  fed/ Bkb  fed/ Bkb ;zpfXs j? <;zpfXs j? <;zpfXs j? <;zpfXs j? <    
(1) gNkfynK s'A o"bk god{ôD       (2) bkT{v ;gheo s'A o"bk god{ôD    
(3) ;kotifBe ;zp'XzB goBkbh s'A o"bk god{ôD   (4) d'At/A (2) ns/ (3)  

138 Which book has been prepared by International Union for Conservation of Nature and Natural 

Resources  (IUCN) concerning endangered species of plants and animals? 

(1) White Data Book    (2) Red Data Book (3) Blue Data Book   (4) None of these 

 

138 e[dos ns/ e[dosh ;z;kXBK e[dos ns/ e[dosh ;z;kXBK e[dos ns/ e[dosh ;z;kXBK e[dos ns/ e[dosh ;z;kXBK (IUCN) d/ fjck÷s bJh nzsookôNoh ;zx B/ b[gs j' ojhnK g'fXnK ns/ d/ fjck÷s bJh nzsookôNoh ;zx B/ b[gs j' ojhnK g'fXnK ns/ d/ fjck÷s bJh nzsookôNoh ;zx B/ b[gs j' ojhnK g'fXnK ns/ d/ fjck÷s bJh nzsookôNoh ;zx B/ b[gs j' ojhnK g'fXnK ns/ 
ikBtoK d/ ;zpX ftu ikBtoK d/ ;zpX ftu ikBtoK d/ ;zpX ftu ikBtoK d/ ;zpX ftu fejVh feskp fsnko ehsh j? <fejVh feskp fsnko ehsh j? <fejVh feskp fsnko ehsh j? <fejVh feskp fsnko ehsh j? <    
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(1)  tkJhN vkNk p[e (;c/d vkNk feskp)     (2) o?v vkNk p[e (bkb vkNk feskp)   
(3) pb{ vkNk p[e (Bhbh vkNk feskp)      (4) fJjBK ftu'A e'Jh BjhA 

139 The BISHNOI Sect was founded by 

(1) B. R. Ambedkar                                                   (2) Bhajan Lal 

(3) Guru Jambheshwar                                            (4) King of Jodhpur 

139 fpôB'Jh ;zg[odkJ/ fejB/ ;Ekfgs dhsk ;h <fpôB'Jh ;zg[odkJ/ fejB/ ;Ekfgs dhsk ;h <fpôB'Jh ;zg[odkJ/ fejB/ ;Ekfgs dhsk ;h <fpôB'Jh ;zg[odkJ/ fejB/ ;Ekfgs dhsk ;h <    
(1)  phH nkoH nzp/deo    (2) GiB bkb   (3) r[o{ izwp/ôto  (4) i'X g[o dk okik 

140  High concentration of which of the following causes leaf curling, leaf drop and reduced leaf size in 

plants? 

(1) SO2      (2) CO      (3) NO2     (4) None of these 

140 fBwB ftZu'A fe; dh T[u fJekrosk, gZsk eofbzr, gZsh ns/ p{NhnK ftZu xN gZsh ;o{g ns/ gZsk vokfBwB ftZu'A fe; dh T[u fJekrosk, gZsk eofbzr, gZsh ns/ p{NhnK ftZu xN gZsh ;o{g ns/ gZsk vokfBwB ftZu'A fe; dh T[u fJekrosk, gZsk eofbzr, gZsh ns/ p{NhnK ftZu xN gZsh ;o{g ns/ gZsk vokfBwB ftZu'A fe; dh T[u fJekrosk, gZsk eofbzr, gZsh ns/ p{NhnK ftZu xN gZsh ;o{g ns/ gZsk vokg dk g dk g dk g dk 
ekoD pDdk j? <ekoD pDdk j? <ekoD pDdk j? <ekoD pDdk j? <    
(1) SO2      (2)  CO      (3)  NO2    (4) fJjBK ftu'A e'Jh BjhA 

141 Traces of radioactive waste present in water can cause? 

(1) Cancer   (2) Eye cataract  (3) DNA breakage   (4) All of these 

141 gkDh ftZu gkJ/ ikD tkb/ o/vhT[Xowh e{VgkDh ftZu gkJ/ ikD tkb/ o/vhT[Xowh e{VgkDh ftZu gkJ/ ikD tkb/ o/vhT[Xowh e{VgkDh ftZu gkJ/ ikD tkb/ o/vhT[Xowh e{V/ d/ fBôkB (/ d/ fBôkB (/ d/ fBôkB (/ d/ fBôkB (traces of radioactive waste) fe; dk ekoD pD ;ed/ fe; dk ekoD pD ;ed/ fe; dk ekoD pD ;ed/ fe; dk ekoD pD ;ed/ 
jB <jB <jB <jB <    
(1)  e?A;o    (2) nZyK dk w"shnk fpzd  (3) DNA dh N[N c[N  (4) T[go fby/ ;ko/  

142 How much area is covered under forest in India? 

(1) 33.47 %   (2) 29.47 %    (3) 22.47 %                      (4) 19.47 % 

142 Gkos ftZu izrbks dk y/so fezB/ gqshôs j? < Gkos ftZu izrbks dk y/so fezB/ gqshôs j? < Gkos ftZu izrbks dk y/so fezB/ gqshôs j? < Gkos ftZu izrbks dk y/so fezB/ gqshôs j? <     
(1)  33.47%    (2) 29.47%   (3) 22.47%    (4)  19.47% 

143 The Greenhouse effect was first recognized by? 

(1) Jean-Baptiste Greenwood   (2) Jean-Baptiste Fourier 

(3) Jean-Baptiste Greenhouse                                (4) None of the above 

143 rohB jkT[; d/ gqGkt dh gSkD rohB jkT[; d/ gqGkt dh gSkD rohB jkT[; d/ gqGkt dh gSkD rohB jkT[; d/ gqGkt dh gSkD ;;;;ZZZZG G G G s'A gfjbK fezB/ ehsh <s'A gfjbK fezB/ ehsh <s'A gfjbK fezB/ ehsh <s'A gfjbK fezB/ ehsh <    
(1) ihB-p?gfN;N rohBt[v      (2)  ihB-p?gfN;N c'fono    
(3)  ihB-p?gfN;N rohB jkT[;    (4) fJjBK ftu'A e'Jh BjhA    

144 Which of the following is responsible for global warming? 

(1) Chloro-flouro carbons    (2) Methane 

(3) Carbon dioxide       (4) All of these 

144 j/m fbfynK ftu'A rb'pb tkofwzr tk;s/ e"D fizw/tko j? <j/m fbfynK ftu'A rb'pb tkofwzr tk;s/ e"D fizw/tko j? <j/m fbfynK ftu'A rb'pb tkofwzr tk;s/ e"D fizw/tko j? <j/m fbfynK ftu'A rb'pb tkofwzr tk;s/ e"D fizw/tko j? <    
(1) eb'o'-cb'o' ekopD    (2) fwE/B   (3) ekopB vkJhnke;kJhv  (4) T[go fby/ ;ko/     

145 Which of the following acid is present in Acid rain? 

(1) HNO3                                          (2) H2SO4         (3) CH3COOH       (4) Both (1) & (2) 

145 j/m fbfynK ftu'A nwbh: toyk ftu' fejVk s/ikp gkfJnk iKdk j? j/m fbfynK ftu'A nwbh: toyk ftu' fejVk s/ikp gkfJnk iKdk j? j/m fbfynK ftu'A nwbh: toyk ftu' fejVk s/ikp gkfJnk iKdk j? j/m fbfynK ftu'A nwbh: toyk ftu' fejVk s/ikp gkfJnk iKdk j? <<<<    
(1)   HNO3                                          (2) H2SO4         (3)  CH3COOH      (4) d't/A (1) ns/ (2)    

146 The situation of depletion of Ozone layer is referred as OZONE HOLE, if the ozone level decreases 

below 

(1) 800 DU                       (2) 400 DU     (3) 200 DU   (4) None of these 

146 i/eo n'i'B ;sji/eo n'i'B ;sji/eo n'i'B ;sji/eo n'i'B ;sj (Ozone layer) fJ; s'A th j/mK xNdh rJh sK fejV/ jbksK ftZu n'i'B dh xNdh gos  fJ; s'A th j/mK xNdh rJh sK fejV/ jbksK ftZu n'i'B dh xNdh gos  fJ; s'A th j/mK xNdh rJh sK fejV/ jbksK ftZu n'i'B dh xNdh gos  fJ; s'A th j/mK xNdh rJh sK fejV/ jbksK ftZu n'i'B dh xNdh gos 
n'i'B j'b nkyh ikJ/rh <n'i'B j'b nkyh ikJ/rh <n'i'B j'b nkyh ikJ/rh <n'i'B j'b nkyh ikJ/rh <    
(1) 800 DU     (2)  400 DU     (3)  200 DU     (4) fJjBK ftu'A e'Jh BjhA    

147 Which of the following is a non-governmental organization dedicated to wildlife conservation? 

(1) World Wildlife Fund for Nature, INDIA                    (2) Indian Board for Wildlife 

(3) National Wildlife Action Plan                                     (4) All of these 

147 j/m fbfynK ftu'A fej/m fbfynK ftu'A fej/m fbfynK ftu'A fej/m fbfynK ftu'A fejVk r?o;oekoh ndkok izrbh iht ofynk bJh tuBpZX j? < jVk r?o;oekoh ndkok izrbh iht ofynk bJh tuBpZX j? < jVk r?o;oekoh ndkok izrbh iht ofynk bJh tuBpZX j? < jVk r?o;oekoh ndkok izrbh iht ofynk bJh tuBpZX j? <     
(1) Gkos ftu ;z;ko d/ e[dosh izrbh ihtK bJh czv    (2) iht ofynk bJh Gkosh p'ov  
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(3) okôNoh izrbh iht ekfonkekoDh :'iBk    (4) T[go fby/ ;ko/    
148 Everyone has the right to a Nationality is covered in .............. of Universal Declaration of Human 

Rights ? 

(1) Article 10            (2) Article 15             (3) Article 20  (4) Article 25 

148 jo fe;/ ù okôNohnsk dk jZe j? jo fe;/ ù okôNohnsk dk jZe j? jo fe;/ ù okôNohnsk dk jZe j? jo fe;/ ù okôNohnsk dk jZe j? .................. fJj x'ôDk wB[Zyh jZdK Bkb fbgNh j'Jh j? ( fJj x'ôDk wB[Zyh jZdK Bkb fbgNh j'Jh j? ( fJj x'ôDk wB[Zyh jZdK Bkb fbgNh j'Jh j? ( fJj x'ôDk wB[Zyh jZdK Bkb fbgNh j'Jh j? (universal 

declaration of human rights) 

(1)  nkoNheb 10   (2) nkoNheb 15  (3) nkoNheb 20  (4) nkoNheb 25    
149 Ten percent law is given by 

(1) Lindmann    (2) Goldmann     (3) Beckmann                  (4) None of these 

149 d; gqshôs ekùB (d; gqshôs ekùB (d; gqshôs ekùB (d; gqshôs ekùB (Ten percent law) fe; B/ fdZsk <fe; B/ fdZsk <fe; B/ fdZsk <fe; B/ fdZsk <    
(1) fbzvw?B     (2) r'bvw?B   (3) p/e w?B    (4) fJjBK ftu'A e'Jh BjhA    

150 Environment Impact Assessment(EIA) was formally established in USA in year 

(1) 1967       (2) 1969      (3) 1971       (4) 1973 

150 tksktoB gqGkfts ;koDh tksktoB gqGkfts ;koDh tksktoB gqGkfts ;koDh tksktoB gqGkfts ;koDh (Environment impact assessment) nw?ohek ftZu fejV/ ;kb ;Ekfgs ehsh nw?ohek ftZu fejV/ ;kb ;Ekfgs ehsh nw?ohek ftZu fejV/ ;kb ;Ekfgs ehsh nw?ohek ftZu fejV/ ;kb ;Ekfgs ehsh 
rJh <rJh <rJh <rJh <    
(1)  1967    (2)  1969   (3) 1971   (4) 1973 
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ROUGH WORK 

 

 

 

 

 


